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{ this file is JI56234(24%24) edit program }
{ avail graphic routine made in KITI )
{ copy from fontedt.pas 1986.10.14 }
( 1986.11.30 )
{ 1986.12.03 }
{ character recog + 1986.12.08 }
{ PC~INb503 data get + 1987.03.06
{ ATOK AUTO START + 1987.03.13 )
{ messyu recog + 1987.04.27 }
(sU-)
{$] pset_hi.lib} { V-RAM direct and xor LINE plus }
{$]1 esc_seq.lib} { for escape code to CRT }
{$1 graph.lib} { for graphic )}
($1 kaniji.lib) { for KANJI to VRAM }
{$] mouse.lib} ( for mouse }
{31 hardc.lib} { for hard copy }
($I for_atok.lib} ( for ATOKS5 call without CTRL~XFER key }
const
DEBUG = 0 ; {* DEBUG FLAG *)
CELL =6 {* DOT PATTERN MIN WIDTH 6 x)
LEL = 100; (¥ LEFT REF.PATTERN X LOCATION 100 x}
LER = 300; (¥ RIGHT REF.PATTERN X LOCATION 300 x)
up = 100; {* HEAD LOCATIONS OF 2 PATTERNS %}
OFSET = 2 H {(* FOR PAINT x}
ENDX = 142; {* MENU LOCATION x}
SAVEX = 222; {* MENU LOCATION x}
LOOKX = 302; {* MENU LOCATION %)
OPTX = 382; {* MENU LOCATION *)
OPT2X = 462; {* MENU LOCATION x}
ON_OFF = 0;
ON_ON = 1;
OFF_OFF = 2;
L1 = 1;
L2 = 2;
RUI = 35
type
fontbuf = arrayl[l..128] of byte H
menuyou = stringll20] H
gaibuf = arrayl[1..2,0,.23,0..23] of integer;
sortbuf = arrayl[0..3500] of integer;
var
buf getbuf : {x% 128 bytes read buffer =)
tmp byte ; {x temporary *}
tmp2 integer H {* temporary x*}
tmpl integer . {x temporary »*)
X,y integer H {* X - y absolute location *)}
pPX, Py : integer N {x select menu X location *)
i,iJk,1,m : integer H {* joop counter x}
fp,fq.fr r fitle ' H {* file pointer x*}
ans : stringld] ; {* ansver bufferx)
gdata : arrayl[1..5,0..400]1 of byte; (% get put bufer x*}
cell_dat : array[0..400] of byte; {x cell paint data *}
dell_dat array[0..400] of byte; {* cell paint data =*}
XX array[1..5) of integer; {* put x-location of get data
vy : array[1..5) of integer; {* put y-location of get data
gaiji_dat . gaibuf H {* gaiji data *x)
vdata ¢ fontbuf H {x font data buffer )
rmb, 1mb : integer ; {* mouse botton *}
iro ¢ integer ; {x font hyouji color =*}
pass_{ ¢ byte H {* redrav flag O:yes l:no *)
last_page : byte H
koko, koko2 ¢ integer
hide . integer H
hide2 : integer :
syakudo ¢ integer
ue,lue,yoko,rue: byte
moj_dat : arrayf{0..299,0..127]1 of byte;
mo_dat : array[0..299,0..37) of byte:
ansl arrayf0..201 of char : (% get key buffer #)
{$1 fablel.pas}
procedure {_save;
var
moji_sum : integer 5 {* touroku moji sum *}
page_sum : integer : {* touroku moji sum/200 *)}
nov_page ¢ integer H {* nov look page %}
max_X,max_y : integer H {* save max location x*}
tx,ty : integer N
BX, DY integer H
begin .

mou_flush;
mousexrange(200,344);
mouseyrange(70,324);
mousepset (270,700 ;
repeat

mousepget (X,yY,1mb,rmb);

it (y<300
then
begin
mx
my
end;

nw

LER;
UP-30;

if (x<300)and (y<300)

then
begin
mx =
my =
end;
if (200<=xYand
then

LER-30;
U

P-30;

(x <230) and

(y>=300)

%}
%)



if

begin
mx
my
end;
(230<=x)and
then
begin
mx
my
end;
(260<=x%)and
then
begin
mx
ny
end;
(290<=xJ)and
then
begin
mx
ny
end;
(320<=xYand
then
begin
mx
my
end;

"o

200;
300;

(x <260)
230;
300;
(x <290
260;
300;

(x <320

290,
300;
(x <350)

320;
300

and

and

and

and

(y>=300)

(y>=300)

(y>=300)

(y>=300)

line(mx-1,my-1,mx+24,my+24,4,1,0,0,0,0,0,0);
delay(200);
line(mx-1,my-1,mx+24,my+24,0,1,0,0,0,0,0,0);

until

(1mb

1),

mou_flush;
makevwdata(mx,my,vwdata);
get(mx,my mx+23,mny+23,0fs(gdatal3)[0]),s5eg(gdatal31[0]1),230);
mousexrange(0,639);
mouseyrange(0,399);

(moji_sum div 100) + 1;

portl$a6] := 1;
port{%a4] := 1;
reset(fq);
moji_sum := filesize(fq);
page_sum =
now_page := last_page;
max_x :=
max_y =

mousepset (0,0);
mousexrange(0,99);
mouseyrange(0,24);

rmb := 1;

clrser;

if
begin

gotoxy (10
writeln('
tmpl

fo

end;
repeat
if

begin
if rmb
begi

nov_page

r

last_page

n

(now_page <> 0) then

jr=
begin

((moji_sum mod 100> mod 20);
((moji_sum mod 100) div 20);

S g ARV BB ERRY AUy,
(now_page -1)*100;
tmpl+l to tmpl+100 do

gotaxy(((i-1) mod 20>*4+1,2+((i-1-tmpl) div 20)%3);
write(i:3);

end;

0 then
1 then

.=

now_page + 1;

if nov_page > page_sunm

tmpl

then now_pag

cls;
cirser;

gotoxy (10
writeln(’

fo

r

ir=

begin

gotoxy (((i~1)
write(i:3);

end;

e

13

(nov_page -1)*100;

seek(fq, (now_page~1)*100);

tmp2
if (now_pasge

fo

r

100;

then tmp2
ir=
begin

page_sum)
(moji_sum mod 100);

1 to tmp2 do

diivs —mr AR B ARAY K=Y,

tmpl+l to tmpl+100 do

mod 20)*4+1,2+((i-1-tmpl) div 20)%3);

blockread(fq,buf,1,tmpl);

kanp24 (((i-1)

end;

mou_flush;

end;
end;
tx
ty
if

(nov_page

last_page

(x div 5);
(y div 8);

then

if
then

begin

tx

ty

((ty >max_y)

nov_page;

page_sum)

max._X;
max_y;

or ((ty

mod 20)%32+1,32+48*%((i-1)

div 20),7,buf);

maXx_y) and (tx>= max_x)))



if tx = 20 then

begin
tx = 0;
ty 1= max_y +1;
end;
mousepset (tx*5+1,ty*5+1);

end;
line(tx*32,ty*48+31,tx*32+25,ty*48+57,3,1,0,0,0,0,0,0);
delay(100);
line(tx*32,ty*48+31, tx*32+25,ty*48+57,0,1,0,0,0,0,0,0);
mousepget(x,y,imb,rmb);
if (Imb = 1) then
begin

reset (fq);

seek(fq,ty*20+tx+(nov_page-1)*100);

blockwrite(fq,vdata,l,tmpi);

{

gaiji_get (tx*32+1,ty*48+32,1,gaiji_dat);

get (tx*32+1,ty*48+32,tx*32+24,ty*48+55,0fs(gdatal[1][0]),seg(gdatal11[0]),230);

}

put (tx*32+1,ty*48+32,0fs(gdatal31[0]1),seg(gdatalld31[03>,230,0,0,0,0);

end;
if (rmb = 1) then
last_page := 0;

until (lmb = 1)
mousexrange(0,639);
mouseyrange(0,399);

reset(fq),;

seek(fg, rxleslze(fq))

port[$a6l := 0; HE77vA =21 «
cls;

clrscr;

portlsad] := 0; (x "RV IELA TL—=r1 »

end;

procedure {_look;

var

moji_sum ¢ integer H {* touroku moji sum *}
page_sum ¢ integer H {* touroku moji sum/200 x*}
nov_page . integer H {* now look page *)
max_x,max_y : integer H {* save max location =%}
tx,ty . integer ;
begin

port[s$ad] := 1;

port[sagl := 1;

reset(fq);

moji_sum := filesize(fq);
page_sum := (moji_sum div 100) + 1;
max_X := ((moji_sum mod 100) mod 20);
max_y := ((moji_sum mod 100) div 20};
nov_page := last_pasge;
mousepset (0,0);
mousexrange(0,99);
mouseyrange(0,24);
rmb := 1;
clrser;
if now_page <> 0 then
begin
gotoxy (10 .
meM(%ﬁﬁ% —EE RRAY . EDIT Eﬁ&/ NR—=Ty;
tmpl := (nov_page -1)%100;
for i:= tmpl+l to tmpl+100 do
begin
gotoxy (((i-1) mod 20)*4+1,2+((i-1-tmpl) div 20)%3);
wvrite(i:3);

end;
end;
repeat
if last_page = 0 then
begin
if rmb = 1 then

begin
nov_page := nov_page + 1;
if now_page > page_sum
then now_page := 1;
tmpl := (now_page -1)%*100;
cls;
clrser;

oxY (10, .
wan(éﬁ %ﬁ ERRY:EDIT HRAY : R=Tn;
for i:= tmpl+l to tmpl+100 do.
begin

write('',2+((i~1-tmpl) div 20)%3,';',((i-1) mod 20)%4+1,

{

gotoxy (((i-1> mod 20)%4+1,2+((i-1-tmpl) div 20)%3);

write(i:3);
}
end;
seek(fa, (nov_page-1)*100);
tmp2 := 100;
if (now_page = page_sum)
then tmp2 := (moji_sum mod 100);
for i:= 1 to tmp2 do
begin
blockread(fq,buf,1,tmpl);

kanp24((¢i-1) mod 20)%32+1,32+48*((i~-1) div 20),7,buf);

end;
mou_flush;
last_page := nov_page;
end;
end:

HY,

i

:3)



tx = (x div 5);

ty 1= (y.div 5);

if (nov_page = page_sum)

then
if ((ty >max_y) or ((ty = max_y) and (tx>= max_x)))
then .
begin

tx = max_x;
ty = max_y.
if tx = 20 then

0.
ax_.y +1;

non

ty ¢
end;
mousepset (txxb+1,ty*5+1);
end;
line(tx*32,ty*48+31,tx*32+25,ty%*48+57,3,1,0,0,0,0,0,0);
delay(100);
Iine(tx*32,ty*48+31,tx*x32+25,ty*48+57,0,1,0,0,0,0,0,0);
mousepget(x,y,imb,rmb);
if Cimb = 1) then
begin
gaiji_get(tx*x32+1,ty*48+32,1,gaiji_dat);
get (tx*32+1,ty*48+32,tx*32+24,ty*x48+55,0fs(gdatal1]1[0]1),seg(gdatall]1{01),230);
end;
if (rmb = 1) then
last_page := 0;
until C(lmb = 1)
mouseyrange(0,399);
reset(fq);
seek(fqg,filesize(fq}));
mou_flush;
gotoxy(l,1);

textcolorg¢2); « o S .
writein( LK N=RIE=>>SUETM? £REY :No HREY :Yes:

repeat

mousepget(x,y,.imb,rmb);

ifCrmb = 1)

then
begin
gotoxy (10,

writeln(’ {%Z%Bﬁf%?éh');
hard_copy_screen;
end;
until! C(lmb = 1) or (rmb = 1);
textcolor(7y;

mou_flush;
port[sa6]l := 0;
cls;
clrser;
port[%ad4l := 0;
end;
procedure font_edit;
var
calx,caly : integer H {* temporaly *)
cell_x,cell_y : integer ; {x cell locationx}
px . integer H {* select menu »*)
on_mode . integer : (% succesive on *}
hided : integer H
begin

pass_f := 0;
on_mode := 0;
mousexrange (LEL,LEL+CELL#%24-1);
mouseyrange (UP-1,UP+CELL%24-1);
mousepset (LEL+CELL%2,UP+CELL*2) ;
mouisesens(4,4);
repeat (x 7AVRIF4H— x
mousepget (%,y,Imb,rmb);
if (y = (UP-1)) and ( % > LEL) then
y := UP;
if ¢y = (UP - 1)) and (x = LEL)
then
begin - R .
px := menu_ha(' [FE—F] BIRON J—<) BOFF fERTYT BERH:
case px of
ENDX:
begin
on_mode := ON_ON;
end;
SAVEX:
begin
on_mode := ON_OFF;
end;
LOOKX:
begin
on_mode
end;
OPTX:
begin

L}

i

OFF_OFF;

for 1 :=7 downto 0 do
begin
gotoxy(1,18);
esc_seq(REV_BL,37-i);

writeln(' e A
writeln(' f’Fﬁi Iﬁjfﬁ??{ﬁif:ﬁ) ;
writetn(' or 1 1 DI
writeln(' %EE%G) B
writeln(' oko Wa'C@' s
writein('® AD I

gotoxy(1,18);



delay (8001 ;
writeln(’
writelnc' 7%
wvriteln('
writeln(’
writeln('
writetn('

LT

(43N

iy SRR VAN
FIC 9%
AT

L__ 7
ot
=
~—

Y
P

delay(500);
end;
esc_seq(RESET,0);
textcolor(7);

end;
OPT2X:
begin
if hide =1
then
hide := 2
else
hide := 1;
hide3 := 1;
esc_seq(REV_BL,GREEN);
write('MOUSE INTERVAL [0-31 '};
readin(hided);
esc_seq(RESET, 0);
esc_seq{(REV_IND,1};
write(' AP
port{$bfdbl := hide3;
end;
end;
gotoxy(1,3); .
writeln(’ HRR>: MENU
writeln¢!*

mousexrange (LEL,LEL+CELL*24~1);
mouseyrange (UP-1,UP+CELL#24-1);

end
else
begin
caly 1= ((x - LEL) div CELL):
cell_x := calx*CELL + LEL;
caly := ((y - UP ) div CELL);

cell_y := caly*CELL + UP ;
line(cell_x,cell_y,cell_x+CELL,cell_y+CELL,4,1,0,0,0,0,0,0);
line(calx*CELL+LER,cell_y,calx*CELL+LER+CELL,cell_y+CELL,4,1,0,0,0,0,0,0);
{ delay(100); )
line(cell_x,cell_y,cell_x+CELL,cell_y+CELL,1,1,0,0,0,0,0,0);
line(calx*CELL+LER,cell_y,calx*CELL+LER+CELL,cell_y+CELL,1,1,0,0,0,0,0,0);

if Imb = 1
then
begin

tmpl := point(cell_x+1,cell_y+1);
case on_mode of

ON_OFF:
begin
if tmpl > 0
then
begin
paint(cell_x+1,cell_y+1,0,1);
preset (LER~30+calx,UP-30+caly);
end
else
begin
paint(cell_x+1,cell_y+l,iro,1);
pset (LER-30+calx,UP-30+caly,iro);
end;
mou_flush;
end;
ON_ON:
begin
if tmpl = 0
then
begin
paint(cell_x+1,cell_y+1,iro,1);
pset (LER-30+calx,UP-30+caly,iro);
end;
end;
OFF _OFF:
begin
if tmpl > O
then
begin
paint(cell_x+1,cell_y+1,0,1);
preset (LER-30+calx,UP-30+caly);
end;
. end;
end; {(* case end %)
end; {* if end *)
end; {* else - end *)

gntil (rmb = 1);

mou_flush;

makewdata (LER-30,UP-30,vdata);

mousesens(8,8);

end;
procedure font_vyoui;

begin

cis;
for »:=0 to 24 do
begin

—



{ine(LEL+CELL*x,UP,LEL+CELL#x,UP+CELL*24,1,0,0,0,0,0,0,0);
line(LER+CELL*x,UP,LER+CELL*xX,UP+CELL*24,1,0,0,0,0,0,0,0);
end;

for y:=0 to 24 do
begin
line(LEL,UP+CELL*y,LEL+CELL*24,UP+CELL*y,1,0,0,0,0,0,0,0);
line(LER,UP+CELL*y , LER+CELL*24, UP+CELL*y,1,0,0,0,0,0,0,0);

end;
get (LEL,UP,LEL+CELL-1,UP+CELL-1,0fs(del}_dat[0])),seg(dell_dat[01),50);
paint (LEL+OFSET,UP+OFSET,7,1);
get (LEL,UP,LEL+CELL-1,UP+CELL~1,0f{s(cell_dat[0]),seg(cell_datl01),50);
paint (LEL+OFSET,UP+OFSET,0,1);
for %x:=0 to 23 do
for y:=0 to 23 do
begin
tmp2 := gaiji_dat[l]IxI[y1:
if tmp2 > 0
then
begin
put (LEL+CELL*x,UP+CELL*y,0{s(cell_dat[0]),seg(cell_dat[0]1),50,0,0,0,0);
end;
end;
put (LER~30,UP-30,0fs(gdatal1]1[0]),seg(gdatal11[01),230,0,0,0,0);
for x:=0 to 23 do
for y:=0 to 23 do

begin
tmp2 := gaiji_.dat[2][x1[y]1;
if tmp2 > 0
then
put (LER+CELL*X,UP+CELL*y,0fs(cell_dat[01),seg(cell_dat[0]),50,0,0,0,0);
end;
put (LER,UP-30,0fs{gdatal2]1{0]),seg(gdatal2]{01},230,0,0,0,0);
end;
procedure com_hyo;
var
hik_dat:array[0..23,0..23] of integer H
X,y,tmp2 : integer
begin
gaiji_get(LER~-30,UP-30,1,gaiji_dat);
for x := 0 to 23 do
for yi=-0 to 23 do
begin
hik_datlxIlyl = 0;
if((gaiji_dat[11[x1[y1=7) and (gaiji_datl2]1Iix1lyl=7))
then hik_datlx1lyl := 7.
if(c(gaiji_dat{11Ix1ly1=7) and (gaitji_dat[2)}I{x][y1=0))
then hik_datix1[y]l = 2;
if((gaiji_datl11{x1[yl=0) and (gaiji_datl2][x1I[yl=7))
then hik_datlixIlyl = 4;
. end;
for x:=0 to 23 do
for v:=0 to 23 do
begin
tmp2 := hik_dat[x]ly1;
if tmp2 = 2
then
paint (LEL+CELL*X+OFSET,UP+CELL*y+OFSET, tnp2,1):
if tmp2 = 4
then
paint (LER+CELL*x+OFSET,UP+CELL*y+OFSET, tnp2,1);
end; .
end. .
{$I recog.pas}
begin (x ZIZMBAAVI—F )
syokika; -
hide = 2
hide2 := 0;
koko2 := 0;
ue = 1
lue = 1;
rue =1
yoko = 1;
repeat
ans[1] := 'n';
clrser;
mou_flush; —
writeln(’ Yy hT 66_ Fable
vriteln(’ 43.’5(:/: QFF;
writeinC’ w2 MENU 9
vriteln(* s
writein(""); N e .
writein(' R “3:%% ﬁﬂ@i&%‘)'
Hmwar=0)tMn(*i§a — R EREERITCHEIVES o
begin
font_youi;
end;
font_edit;

L/
px 1= menu_ha¢' [AZa—] 1=—2 1<—2 g A SR T "y
gaiji_get(LER-30,UP-30,1,gaiji_dat);
get(LER-30.UP-30,LER-30+23,UP—30+23,o[s(gdata[l][OJ),seg(gdata[ll[ol).230);
case px of ’

ENDX:
begin
mv_12;
end;
SAVEX:
begin

cp_12;



end,
LOOKX:
begin
px = menu_nact BMBAR]  XF—E XFEAH EEASH ESC o
case px of
ENDX:
begin
f_look;
. end:
SAVEX:
begin
kan_input (hide);
{
hard_copy_screen;
}
end.;
LOOKX:
begin
gazoget;
end;
OPTX:
begin
pass_{ := 1;
end;
OPT2X:
begin
pass_{ = 1;
end;
end; {* option menu 1 case end *)
end;
OPTX:
begin
px = menu_ha(' [HRALFY] SRR EEREOR XTERE FAE ESCo;:
case px of
ENDX:
begin
{_save;
end;
SAVEX:
begin
hard_copy_screen;
end;
LOOKX:
begin
repeat
pass_f :=

px :-[w‘%&}% o DEES %T‘ﬁ%‘ éﬁg"' NS VI, AW “'/):!. ESC -,

- {#* CAUTION extenal value syakudo is changed in thxs sub-routine =x)
' case px of
ENDX:
begin
= com_hvo;
: tan_ruiji:
periphe;
end;
SAVEX:
begin
moji_nin(3);
end;
LOOKX:
begin
moji_nin(2);
end;
OPTX:
begin
moji_nin(4);
end;
OPT2X:
begin
pass_f := 1;
end;
end; {* sub menu end %)
font_youi;
for i:= 1 to 10 do .
begin
gotoxy(1,17);
delline;
end;
until(pass_{ = 1)
end;
OPTX:
begin
henkei.
end;
OPT2X:
begin
pass_{ := 1;
end;
end; {* option menu 1 case end *}
end;
OPT2X:
begin
“cls;
clrscr;
gotoxy(20,10); .
write ' ZZRA Y I RD 0,
esc._seq( EVER GREEN);
write(' 41,
esc seq(RFSFT 0)
wr1te('/\



nd.

esc_seq(BLINK,GREEN) ;

write('m%

"y

esc_seq(RESET,0);

repeat
mousepget (xX,y,1lmb,rmb);
until ¢(rmb =1) or (imb = 1));
if rmb =1
then
ansf11 1= 'y'; (% ME—DXAA VPH
end;
end; {* main case end *}
antil (ans[1] = 'y');

(x FETAEE «)
mou_flush;
mouseerase;
cursor_on;
close({p);
close(fq);
clrscr;

cls;



procedure mou_flush;

begin

Gk BIFHENERRA DT YT «

vhile (lmb > 0> or (rmb >0 )

begin
mousepget(X,y,lmb,rmb);
end;
end;
procedure gaiji_get(sx,sy,loc gex,var gaiji_dat:gaibuf);
oy &{9#
var
k,j : integer ; (% counter x}
begin
for k:=sx to sx+23 do
begin
for j:= sy to sy+23 do
begin
gaiji_datlloc){k-sx]llj-syl := point(k, j);
end;
end;
end;
function menu_ha(menu_moji:menuyou):integer;
var
my integer ;v {* menu X location %}
X.,¥Y.lmb,rmb: integer H
label OYA;
begin
gotoxXxy(3,3);
mousexrange(115,155);
mouseyrange(100,130);
mousepset(130,100);
wvriteln(men 0Ji)s
writeln(' Z‘]:BJ: /"C:@j’ﬂ)
repeat
mousepget (x,y,lmb,rmb);
if vy > 125 then goto OYA;
if x <125
then mx := ENDX;
if (12b6<=x)and (x <13%)
then mx := SAVEX,;
if  (13b6<=x)and (x <145)
then mx := LOOKX;
if (145<=xYand (x <=155)
then mx := OPTX;
if  (155<=x) and (x-<= 165)
then mx := OPT2X:
line(mx,25,mx+656,50,4,1,0,0,0,0,0,0?;
delay(ZOO).
line(mx,25,mx+65,50,0,1,0,0,0,0,0,0);
until (Ilmb = 1)
OYA:

function menu_ha2(menu_moji,menu_moji2:menuyoul:

var

const

mousexrange(0,639);
mouseyrange(0,399);

mou_fiush;
menu_ha = mX,
end;

mx
mmx

y,1mb,rmb
y_off
syaku_ok,syuhou_ok
SYU_X,sya_x,
Syu_x2,sya_x2

oK = 1;
begin

mousexXrange(115,155);
mouseyrange(100,130);

mousepset (130,100);
syaku_ok := 0;
syghou_ok := 0;

sya_X := 0;
syu_x := 0;
sya_%x2 := 0;
syu_x2 := 0;

gotoxy(3,3).;
writeln(menu_moji’;
gotoxy(1l,4);
writein(' '
gotoxy(3,4);
writeln(menu_moji2);
esc_ seq(REV WYHITE)

wrlteln(' &
esc_seq(RESET 0);
repeat

integer
integer
integer
integer
integer
integer
integer

TR

nmousepget (X,y,lmb,rmb);

if (y <€ 125> then
begin
y_off := 0;
if x <125
then mx := ENDX;
if (125<=x)and (x <135)
then mx := SAVEX:
if (135<=x)and (X <145)
then mx := LOOKX;
if (l46<=x)and (X <=155)
then mx := OPTX;
if (155<=¥) and (x <= 165)

vt ee e e e wa we

integer:

{* menu x location =%}

{* 2 danme offset *}



then mx := OPTZX;
if (Ilmb = 1) then
begin
SYU_X2 = SYu_X.
SYU_X = mX;:
mmx = oMK
if ((mx = ENDX) or (mx = OPT2X)) then
syaku_ok := OK;
syuhou_ok := OK;
end;
end;
if (y >= 125) then
begin
y_off := 19;
if x <125
then
begin
mx = SAVEX:
syakudo := L1;
end;
if (I26<{=x)and (x <135
then
begin
mx = SAVEX;
syakudo := LI
end;
if (135<=xYand (x <145)
then
begin
mx = [LOOKX;
syakudo := L2;
end;
if (145<=x)and (x <=155)
then
begin
mx = OPTX;
syakudo := RUI:
end;
if (155<=x) and (x <= 165)
then mx := OPTX:
if (lmb = 1) then
begin
sya_x2 = sya_X:
sya_x = mx;
syaku_ok := 0K:
end;
end;

line(mx,30+y_off,mx+65,48+y_off{,4,1,0,0,0,0,0,0);
delay(200);
line(mx,30+y_off,mx+65,48+y_o0ff,0,1,0,0,0,0,0,0);
if(syu_x > 0) then
fine(syu_x,30,syu_x+65,48,2,1,0,0,0,0,0,0);
if(sya_x > 0) then
line(sya_x,30+19,sya_x+65,48+19,2,1,0,0,0,0,0,0);
if ((syu_x2 >0) and (syu_x2<>syu_x)) then
line(syu_x2,30,syu_x2+65,48,0,1,0,0,0,0,0,0);

procedure makewdata(xx,yy:in

procedure arimasen(err_nqm.add{e'gﬂ%s erd;

if({sya_x2 >0) and (sya_x2<{>sva_x)) then

line(sya_x2,30+19,sya_x2+65,48+19,0,1,0,0,0,0,0,0);

until ((syaku_ok = OK) and (syuhou_ok = 0K));

mousexrange(0,639);
mouseyrange(0,399);

mou_flush;
menu_ha2 := mmx;
end:

eger;var M

X—y B

{* counter #*} )
{* 1s there a point 7 #*}

ta:font
(%« A ;
var ’
i.i,k
aru
begin
for

integer 5
integer :

i:=1 to 128 do
wdatalil := 0;
wdata(ll
wdatal2]
vdatafl3]
wdatal4]
vdatalb]

woaowonon
W W WD O

’
»
s
’
’

0 to 23 do
1 to 3 do
for k:= 0 to 7 do
begin .
aru := 0;
if point((j~1)*8+k+xx,yy+i) > 0
then
aru = 1;
wdatali*3+j+54] :=
end;

for i:=
for j:=

end;

(* TZ—NJR *)
begin
if hiCerr_num) =
begin
textcolor(el;

writeln(’
JISxEN
Il

1 then

writeln('
writein(’ N

S
writeln(' PREOCFINA

10
7“&%%ﬂv77*)

(wdata(i*3+j+541 shl

1)

+ aru;



i

i

writein('
writeln(’
wvriteln('
writeln('
writeln('
writeln(’
writelnc'
writeln('
writeln(’
writeln('
writeln(
esc_seq(REVE
writeln('
writeln(’
writeln("'
esc_seq (RESET,0);
textcolor(7);
end;
f hiCerr_num) = Q then
writeln(' ¢t rl—c®&IMLELER;

f hiCerr_nun)

writelnﬂ/‘ﬁ'fzﬁéﬁbt;thl%%ﬁfi 19FET!H 1y,
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cursor_on;

end;

procedure tan_ruiji; ¢+ ESHEFDUEIE «

var
ruijido

lp_sum,rp_sum

and_sum
begin

lp_sum H
rp_sum H
and_sum := 0;
for

if

end;

procedure periphe;

var
rpu, rped
rpl,rpr
ipu, lpd
Ipl,lpr
rpu2,rpd2
rpiz,rpr2
Ipu2,ipd2
lpl2,1pr2
ruijido

Ip_sum,rp_sum

and_sum
ruijido2

lp_sum2,rp_sum2:

and_sum2

begin

. real H
integer H
integer

0
0

®x:=0 to 23 do
for v:=0 to 23 do
begin
if point(LER-30+x,UP-30+y) > 0
then
Ip_sum := lp_sum + 1;
if point(LER+x,UP-30+y) > 0
then
rp_sum := rp_sum + 1;
if (point(LER-30+x,UP-30+y) >0)
then
and_sum :=

and

and_sum + 1;
end;
ruijido :=
ruijido > 0
then
ruijido 1= and_sum / ruijido;

gotoxy(20,18); .
write("ZENA—Y Ry M
writeln(lp_sum:4);
gotoxy(20,19); .
write (' EGNX— }“V}‘%{:');

wvriteln(rp_sum:4);
gotoxy(%ém;
wvrite(' *
writeln(and_sum:4);
gotoxy(iﬁ,%%ﬁx
write (' BL# ﬂiﬂ%

writeln(ruijido:1:3);
(s NU T I)I)VFHEEE

.231 of
.231 of
.231 of
.231 of
.231 of
.231 of
.23) of
.231 of

sqrt (Ip_sum)*sqrt{(rp_sum)

vy

vy

integer;
integer;
integer;
integer;
integer;
integer;
integer;
integer;

arrayf{o0.
array{0.
arraylo.
arraylo.
arraylo0.
arraylo.
: arravylo.
. arraylo.
. real
real
. real
. real
real

real
for x:i= 0 to 23 do (# LJHFHEMD
begin
'y 1= 0;
while((point (LER-30+x,UP~30+Yy)
y 1=y + 13
Ipulxl = vy;i
wvhile((point(LER-30+x,UP-30+y) =
y =y + 13
while((point (LER-30+x,UP~-30+y) =
y 1=y + I3
Ipu2ixl = vy;
y = 03
while((point (LER+%,UP-30+y) = 0)
y =y + 13
rpulxl = vy;
vhile((point (LER+x,UP-30+y) = 7)
y 1=y + 13
while((point(LER+x,UP-30+y) = 0)
y =y + 13
=y

and

and

rpu2lx1l
end;

0) and

7) and

0> and

{* simple similality

(point (LER+X,UP~30+y)>0)

(y<24)) do

(y<24)) do

(y<24)) do

(y<24)) do

and (y<24)) do

(y<24)) do



for x:= 0 to 23 do (% PAIEIND %

begin
y := 23
wvhile((point (LER-30+x,UP-30+y) = 0) and (y>=0)) dg
y 1=y - 1;
lpdlxl := 23 -y
vhile({(point (LER-30+x,UP-30+y) = 7) and (y>=0)) do
y =y - 1;
while((point(LER-30+x,UP-30+y) = 0) and (y>=0)) do
y 1=y - 1;
lpd2{x] = 23 - vy;
y = 23;
while((point(LER+x,UP~-30+y) = 0) and (y>=0)) do
y 1=y - 1;
rpdix] := 23 - vy;
while((point(LER+x,UP~30+y) = 7) and (y>=0)) do
y =y - 1;
while((point(LER+x,UP-30+y) = 0) and (y>=0)) do
y 1=y - 1;
rpd2{x]1 := 23 -y;
end; ~
for v:= 0 to 23 do (* ZEHHIME )
begin ’
X 1= 0;
while((point (LER-30+x,UP-30+y) = 0) and (x<24)) do
X = X + 1;
Ipilyl = x;
while((point(LER-30+x,UP-30+y) = 7) and (x<24)) do
X = x + 1;
wvhile((point(LER-30+x,UP-30+y) = 0) and (x<24)) do
X = x + 1;
Ipl2lyl = %;
X = 03

while((point (LER+X,UP-30+y) = 0) and (x<24)) do
X 1= X + 13

rpllyl = Xx:

while((point(LER+x,UP-30+y)
X o= X + 137

while((point (LER+x%,UP~-30+y)

7) and (%<24)) do

0) and (x<24)) do

X 1= X + 1;
rpl2{y]l = X;
end; .
for yi= 0 to 23 do (x AHMEMD «
begin
X = 23;

while((point (LER-30+x,UP-30+y) = 0) and (x>=0)) do
X 1= x -1;%

Iprlyl := 23 -x;

while((point(LER~30+x,UP~-30+y) = 7) and (x>=0)) do
X =% -1

wvhile({(point (LER-30+x,UP-30+y) = 0) and (x>=0)) do
X = X =13 .

Ipr2lyl := 23 ~X;

X 1= 23;

wvhile((point (LER+x,UP-30+y) = 0) and (x>=0)) do
X = %~ 1; . . .

rpriyl := 23 - Xx;

while((point (LER+x,UP-30+y) = 7) and (x>=0)) do
X 1= X - 1;

wvhile((point (LER+x,UP-30+y) = 0) and (x>=0)) do

X =X - 1;
rpr2lyl := 23 ~ %
end; .
Ip_sum := 0;
Ip_sum2 := 0;
for x:= 0 to 23 do
begin .
lp_sum := lp_sum +lprixl*lprixl+iplixl*lplixl«lpulxl*ipufx]l+lpdlx]I*lpdlx];
lp_sum2 := lp_sum2 +1pr2fixl*lpr2ixl+1pl2[xI*lpl2ixI+lpu2lxl*lpu2lxl+lpd2lxI*lpd2ix];
end;
re_sum := 0;
rp_sum2. := 0;
for %x:= 0 to 23 do
begin
rp_sum := rp_sum +rprix1*rprixl+rplixI*rplixl+rpulxl*rpulx]l+rpd{xI*rpdix];
rp_sum2 := rp_sum2 +rpr2lxl*rpr2lxl+rpl2ixl*rpl2{x]+rpu2{xl*rpu2{xl+rpd2[x]l*rpd2[x];
end;
and_sum := 0;

and_sum2 := 0;
for x:=0 to 23 do

begin
and _sum := and_sum +rprixl*lprixl+rplixl*lplixl+rpulxl*lpulxl+rpdixI*ipdix]l;
and_sum2 := and_sum2 +rpr2ixI*lpr2{xI+rpl2ixi*lpl2{xI+rpu2lxlxlpu2lxl+rpd2ix]*lpd2Ix];
end;
ruijido := sart(lp_sum) * sqrt(rp_sum);
if ruijido > 0
then
ruijido := and_sum / ruijide;
ruijido2 := sqrt(ip_sum2+1lp_sum) * sart(rp_sum2+rp_sum);
if ruijido2 > 0
then
ruijido2 := (and_sum+*and_sum2) / ruijido2;

otoxy (2 23 . .
gt RS s e 1k
write(ruijido:1:3);

write(' 1 w oo
writeln(ruijido2:1:37;
gotoxy(30,23);

esc_seq(REVER, WHITE) ;



Pro

var

writelnC BV ERA 2y,
esc_seq(RESET,0);
mou_flush;
repeat

mousepget(X,y,Imb,rmb);
until (imb = 1);
mousexrange(0,639);
mouseyrange(0,399)

end;
cedure syokika: (* [EN] I@i’zﬂ‘
% 77 ?@ﬁm*)
FHrowuH

kata . figure b {* figure data of mouse %}

jisho_name ¢ stringl2bl H

henkei_nanme : stringl251} H

cns . stringll] H {* drive number read %}
begin

errorptr := ofs(arimasen): (% LI—BEDOROGEHE
for i:=0 to 31 do
begin
kataflil = 0;
end;
for x:= 0 to 23 do
for vy = 0 to 23 do

begin
gaiji_datl11{x1[y}l =0
gaiji_datl2)l{x1lyl := 0:
end;
cls;
clrser:

textcolor(7y;
cursor_on;
use_all_screen;
gotoxy(1,20);
esc_seq(REVER,WHITE) ;
writelnC'
writeln('
writeln(’
writeln('
writeln(C’ '
vriteln(’ '
writeln('');delay(200);
esc_seq(RESET,0);
writeln('*):;delay(200);
writeln('');delay(200);
writein('');delay(200);
writeln('');delay(200);
writeln(' [RETURN] 2fLTTFaW Y
writeln(’'');delay(200);
writeln(*'');delay(200);
writeln('');delay(200);
writeln(*'):;delay(200);
writeln('');delay(200);
read(i};
for i := 0 to 63 do

kata[l] = 0,

katalo0]l := $if;

katall]l := $00;

katal2] := $80;

katal4] := $80;

katal61 := $80:

katal81 := $80;

xx[11] = 180,

xx[2] = 2503

yy[11} 1= 200

yy[2l t= 2003

clrser;

init; . .-
screen{(3,0,0, 1), , (x. 4 0 0FET—RIZ %
cls;

mouseinit;
if reg.ax = 0

then
begin o
writeln (' R ALFHENTE LR A ;
exit;
end;
X 1= 320,
y = 200;
iro := 1;

mousepset(x,y);

mouseshape(0,0,kata);

gotoxy(l,} —

vriteln¢' %% jis6234, datiZ¥OF42A¥ a, b, ¢, [d]

readln(cns);

if length(cns) = 0
then ¢ns := 'd":

jisho_name := ':jis6234.dat’;

insert(cns, jisho_name,1);

assign(fp, jisho_name) . .
wnteln('}{’})‘l-—‘/%ﬁ% henkei. datit [al, b, ¢, dn;
readin(cns);
if length(cns) = 0

then

cns = ‘a';

henkei_name := ':thenkei.dat';
insert(cns,henkei_name,1);
assign(fq,henkei_name);
reset(fqg);
seek(fq,lilesize(fq));




cursor_off;
mou_{lush;

gaiji_getixx[1]l,yylll,1l,gaiji_dat);
gaiji_get(xx(21,yyl2],2,gaiji_dat);
get(X,y,xX+23,y+23,0fs(gdatal11[0]),seg(gdatall]{0]),230);
get(X,y,x+23,y+23,0fs(gdatal2]1(0]),seg(gdatal2]1{0]),230);

iro = 7;
pass_{ = 0;
last_page := 0;
end; N
{* ez *)
procedure henkei; {*
const
LERR = 230;
var

BHXEONE o

kyori : array[-23..23,-23..23] of integer;

key : integer;
label 999,888,777,666,555;
begin
gotoxy(26,18);
vritein('

+m)>0))

m)>0))

~m)>0))

~m)>0))

To

for 1 := ~23 to 23 do

for

for m := -23 to 23 do
kKyorillliml := [*l+m*m;
i := 0 to 23 do
for j := 0 to 23 do
begin
tmpl point (LER-30+i ,UP~30+j);
tmp2 := point(LER+i,UP~30+j};
for kX :=0 to 1000 do
begin
key = 0,
if tmp2 > 0
then
begin
for 1 1= 0 to 23 do
begin
if (kyorilll[O01 > k) then goto 888;
for m := 0 to 23 do
begin
if (kyorillllml > k) then goto 777;
begin
if ({kyorillllml=k) and (point(LER~30+i+],UP-30+j

then
begin
key := 1; .

pset (LERR+90+i+(1+3) div 6,UP+200+j+(m+3) div 6,iro);
pset (LERR+60+i+(1%2+3) div 6,UP+200+j+(m*2+3) div 6,iro);
pset (LERR+30+i+(1%3+3) div 6,UP+200+j+(m*3+3) div 6,iro);
pset (LERR+i+ ({*4+3) div 6,UP+200+j+(m*4+3) div 6,iro);
pset (LERR-30+i+(1%5+3) div 6,UP+200+j+(m*5+3) div 6,iro);

end;

if ((kyori[lJIm]l=k) and (point(LER-30+i-1,UP-30+j

then
begin
key := 1;
pset (LERR+90+1i~(1+3) div 6,UP+200+j+(m+3) div 6,iro);
pset (LERR+60+i~(1%2+3) div 6,UP+200+j+(m%2+3) div 6,iro);
pset (LERR+30+i~(1%3+3) div 6,UP+200+j+(m*3+3) div 6,iro);
pset (LERR+i-(1*4+3) div 6,UP+200+j+(mn*4+3) div 6,iro);
pset (LERR-30+i~(1*5+3) div 6,UP+200+j+(m*5+3) div 6,iro);

end;
if ((kyori[lJf{mlI=k) and (point(LER-30+i+1,UP-30+j

then
begin
key := 1;

pset (LERR+90+i+(1+3) div 6,UP+200+j-(m+3) div 6,iro);
pset (LERR+60+i+(1%2+3) div 6,UP+200+j~(m*2+3) div 6,iro);
pset (LERR+30+i+(1%3+3) div 6,UP+200+j~(m*3+3) div 6,iro);
pset (LERR+i+(1%4+3) div 6,UP+200+j-(m*4+3) div 6,iro);
pset (LERR-30+i+(1*5+3) div 6,UP+200+j~(m*5+3) div 6,iro)

end;

if ((kyorifl1llml=k) and (point(LER-30+i-1,UP-30+]

then
begin
key :=1;
pset (LERR+90+i~(1+3) div 6,UP+200+j~(m+3) div 6,iro);
pset (LERR+60+1i~(1%2+3) div 6,UP+200+j~(m*2+3) div 6,iro);
pset (LERR+30+i~(I#3+3) div 6,UP+200+j~(m*3+3) div 6,iro);
pset (LERR+i-(1%4+3> div 6,UP+200+j-(m*4+3) div 6,iro);
pset (LERR~30+i-(1*5+3) div 6,UP+200+j-(m*5+3) div 6,iro);
end; :
end;
end;
777:
end;
888:
end;
if key > 0 then goto 999;
if tmpl > 0
then
begin
for 1 := 0 to 23 do
begin
if (kyori[l1[0] > k) then goto 6€66;
for m := 0 to 23 do



begin
if (kyoril[lllm] > k) then goto 555;
begin
if ((kyorillliml=k) and (point(LER+i+]1,UP-30+j+m)

>0))
then
begin
key = 1;
oy pset (LERR-30+1+1~(1*5+3) div 6,UP+200+ j+m-(m*x5+3) div 6
o pset (LERR+i+1-(1*4+3) div 6,UP+200+j+m-(m*4+3) div 6,ir
o pset (LERR+30+i+1-(1%3+3) div 6,UP+200+ j+m~(m*3+3) div 6
,irol,y
o pset (LERR+60+i+1~(1%2+3) div 6,UP+200+j+m-(m*2+3) div 6
,iro),
. pset (LERR+80+i+1-(1+3) div 6,UP+200+j+m-(m+3) div 6,iro
end;
>0)) if ((kyorill1lIml=k) and (point{(LER+i-1,UP-30+j+m)
then
begin
key := 1;
' ) pset (LERR-30+i-1+(1%5+3) div 6,UP+200+j+m-(m*5+3) div 6
,iroj;
, pset (LERR+i-1+(1%4+3) div 6,UP+200+ j+pn-(m*4+3) div 6,ir
0);
o) pset (LERR+30+i-1+(1%3+3) div 6,UP+200+j+m-(m*3+3) div 6
Jiro);
. pset (LERR+60+i~1+(1#2+3) div 6,UP+200+j+m-(m*2+3) div 6
,iro);
. pset (LERR+80+i-1+(1+3) div 6,UP+200+j+m-(m+3) div 6,iro
end;
. if ((kyorill1lIml=k) and <(point(LER+i+1,UP-30+j-m)
then
begin
key = 1;
o pset (LERR-30+i+1-(1%5+3) div 6,UP+200+j-m+(m*5+3) div 6
Jirod s \
, pset (LERR+i+1-(1%4+3) div 6,UP+200+i-n+(m*4+3) div 6,ir
0);
o pset (LERR+30+i+1-(1%3+3) div 6,UP+200+j-m+(m*3+3) div 6
,iro);
oy pset (LERR+60+i+1-(1%2+3) div 6,UP+200+j-m+(m*2+3) div 6
,irol):
. pset (LERR+80+i+1-(1+3) div 6,UP+200+j~m+(n+3) div 6,iro
end;
sors if ((kyori[iJ[ml=Kk) and (point(LER+i-1,UP-30+j-m)
then
begin
key :=1;
- pset (LERR-30+i~1+(1%5+3) div 6,UP+200+j-m+(m*5+3) div 6
L.irod;
) pset (LERR+i-14(1%4+3) div 6,UP+200+j-m+ (n*4+3) div 6,ir
0);
oy pset (LERR+30+i-1+(1%3+3) div 6,UP+200+j-m+(m*3+3) diVv 6
yirod s
. pset (LERR+60+i-1+(1%2+3) div 6,UP+200+ j~m+(m*2+3) div 6
yiro):
. pset (LERR+90+i-1+(1+3) div 6,UP+200+i~-m+(m+3) div 6,iro
end;
end;
end;
555
end;
666:
end;
if key > 0 then goto 9389:
end;
999:

end;

textcolor{(2); .
writelnC BNV ERE V9,
textcolor(7);
mou_f{lush;
repeat

mousepget(X,y,lmb,rmb);
until (Imb = 1) or (rmb = 1);
if (rmb = 1) then pass_f := 1;

o mE by .

procedure convi6(bytelO:byte);

const
table : string{l16)] = '012345678%abcedel "
var
h_byte : byte H {* upper 4 bits of the byte *}
I_byte ' byte H {* lover 4 bits of the byte *}
upper, lover : char H
begin

h_byte := bytel0 div 16;

I_byte bytel0 mod 16;

upper = copy(table,h_byte+l,1);
lover := copy(table,! byte+l,1):
write(upper,jover); :




end;

procedure kan_input(hide:integer) ; {*
type
" str80 = stringl801];
var
getsto  stringll20] H
cuf . putbuf ;
XDOS ¢ integer H
cX i integer H
s_jis : arrayl[0..1] of byte
XXX ¢ array[0..20) of str8o;
yyYy . byte H
begin
cls;
clrscr;

atok_call (ROMA_KAN);
atok_call (REN_HEN);

esc_seq(REVER,WHITE) ;
gotoxy(1,3);

EFAT

{* ITITARO read buffer

{* jis - sjis convert buf
{* xposition 100 + Xposx40
{* x position of cursor

(¥ shidt JIS buffer

*}
*}
*}
*}
*}

XXR[1] 1= NASE S0 A Gy W LTWET
xxx[2] := ° %b%ﬁ%%“}bé‘g‘%%'?:.:.?)b%ﬁf?élf‘
xxx[3] = " N
Rx®[4] 1= R KKK KX REMER 247 k% oK K K K
xxx[6] := L. U“?g‘ié&%' ‘%d)ﬂ/“‘)}/f“ﬂﬁ LT
xxx[6] 1= 5 A :z}\kb?":b%f{ =<
X¥R[7) ;= ! . . T A ORI
Xxx[81 ;= * 3. EnI, Z\/\"‘Z"’F"S“ @%ﬁé‘
®xx[9] = ' 4, «—— T b’ ﬂOﬁéﬁt Ul U7§h
xxx[10] 1= 5. | T :(ID 10D 2348 Itiﬁ/i@-
®xx[11]) = ' 6. [RETUR AN S
xxx[12]1 := ° ¥, 1r-101; T £—$ KD ?\k’z_‘?\g&‘%i?‘
Xxx[131 := ' g;"?:[&“}\]\ 'ﬁ"‘rb G~ -E'E‘%
xxx[14] := °* z - AVIISHIFT] [1:4])C
o[18) 1o TR IYSRIYY Maessy
xxx[16]1 = '
for yyy:= 01 to 16 do

begin

fastwrite(0,yyy,%eb,xxxlyyyl);
end;

gotoxy(Q,17);
esc_seq (REV
write("'
esc_seq(RESET,0);
readln(getsto);
atok_call(END_ITI);

X := 100;
y (= 100;
iro 1= 7;

mousexrange(0,639);
mouseerase;

clrscer;

gotoxy(l,9);
writein(' 7 hMJI S

gotoxy(1,10); .
vriteln('J I ST—RKry;

gotoxy(l,11) N
AT 3T N

e R T FEL—- ——=>;

for k:=1 to (integer(getstol[0]) div 2) do

begin
reset(fp);
cuff{0] := integer(getstolk*2-11);
‘cuf[1) := integer(getstolk*21);
s_Jjis[0] := cufl0];

s_Jjis[l1] = cufll};
sjtojis(cuf);
tmpl = 90;
tmp2 := cal_se(cuf);
if tmp2 < 525
then tmpl := 30;
seek (fp,tmp2);
1 1= 0,
repeat
blockread(fp,buf,1,m;
tmp2 = tmp2 + 1;

(x UZF +T—F »)

if (cufl01 - buff141) > 1

then
begin

tmp2 := tmp2 + tmpl * (cuf[01-bufl141-1);

seek(fp,tmp2);
end;
=1+ 13
f 1 > 1000
then
begin

i
i

cursor_on;
exit;
end;

vriteln( FEEICHYT RO~ R UFEAH:

until (buf[14] = cuff0l) and (bufl15) = cufll1);:

Imb := 0;

hide2 := tmp2 - 1;
cx 1= % div 8 ;
gotoxry(cx+1,9);
convl6(s_jis{01};
convl6(s_jis[11);
gotoxy(cx+1,10);
convi6(cuff0l);
convl6(cufl11);
gotoxy(cx+1,11);

write((hu[[]61-48):1.(buf[l7]-48):1,(buf[18]~48):1.(bur[19]~48)11)$

kanp24(X,y,iro.buf’;



X 1= X + 40;
end;
gotoxy(3,3);
textcolor(7y; . NN
vrite(' R ADEDRA VT FERERR
mou_f{lush;
mouseerase;
for k:=1 to hide do
begin 1
case k of
1:
begin
gotoxy(20,12);
writeln('%ﬁiﬁjzg?'):
end;
2
begin

gotoxy (30, ﬁ H
writeln('%\éﬁi');
end;
end;

Imb := 0;
X = 1003
y t= 100;
vhile Imb < 1 do
begin
‘delay(bs0);
mousepget (x,y,lmb,rmb);
delay(100);

Xpos = ((x -100) div 40);
X 1= Xpos*40 + 100;
y := 100;

get(x,y,x+23,y+23,0fs(gdatalk1[0]),seg(gdatalkl(01),230);
line(x,y,%x+23,y+23,7,1,0,0,0,0,0,0);
delay(100);
put(x,y,ofs(gdatalk]I[0]),s5eg(gdatalk][0]}),230,0,0,0,0);
put (xx[k]l,yy[kl,ofs{gdatalkl}[0]),seg(gdatalk][0]),230,0,0,0,0);
.end;
mou_{lush;
end;
gotoxy(l,1);
gaiji_get(xx[11,yy[1],1,gaiiji_dat);
if hide = 2 then
gaiji_get (xx[21,yy[2],2,g8aiji_dat);

end;
procedure cp_12: (x NA—21 & NA—22 |«
var
gaiji_tmp : integer
gdata_tmp : Dbyte H
begin
for x:= 0 to 23 do
for v := 0 to 23 do
begin
gaiji_tmp := gaiji_datl[11[xIlyl:
gaiji_dat[11[x1ly]l := gaiji_dat[2]1I[x]1ly];
gaiji_datl[2]1[x]1ly]l := gaiji_tmp;
end;
for i:= 0 to 230 do
begin
gdata_tmp = gdatalll[il;
gdatall1li] := gdatal21[il:
gdatal21[i] := gdata_tmp;
end;
end; : o ~ o
procedure mv_12; (x WA—=21 e NE—-22
begin
for x:= 0 to 23 do
.for y := 0 to 23 do
begin
gaiji_dat[21[x1ly]l := gaiji_datl[11{x1lvyl}:
end: :
for i:= 0 to 230 do
begin
gdatal2]1[i] := gdatallllil;
end;
end;
procedure pic_copy;
var
widl,wid2: integer ;
vid ¢ integer ’
tmp_rl : real H

tmp_r2 : reatl H
ggdata: array[0..1,0..3000] of byte ;

begin
vidl := 3;
vid2 := 3;

mouseerase;
wvhile (lmb = 0) or (rmb = 0) do

begin
mousepget (x,y,lmb,rmb);
if rmb =1 .
then widl := widl + 2;
if widl > 300
then vidl := 3; -
if Imb =1

then wid2 := wid2 + 2;
if wid2 > 300 ’
then wid2 := 3;
wid := ((wid1+8) div 8)%(wid2+1)*3+4;



if wid > 20000

then
begin
vid = ((widl1+8) div 8)x(wid2+1)%3+4;
wid2z := b;
end;

xor_line(x,y,x+widl,y,5,XORTT);
xor_line(x,y,x,y+wid2,5,X0ORTT);
xor_line(x+widl,y,x+widl,y+wid2,5,XORTT) ;
xor_line(x,y+wid2,x+widl,y+wid2,5, XORTT);
delay(30);
Xor_line(x,y,x+widl,y,5,XORTT);
Xor_line(x,y,x,y+wid2,5,X0ORTT) ;
¥or_line(x+widl,y,x+widl,y+wid2,5,XORTT);
xor_line(x,y+wid2,X+widl,y+wid2,5,X0RTT);

end;

mou_flush;

(* make data x}

tmp_rl := widl / 24.0;

tmp_r2 := wid2 / 24.0;
if(widl>48) or (wid2>48)

then
for i:= 0 to 23 do
for j := 0 to 23 do
begin
if(point(x+trunc(tmp_ri*j),y+trunc(tmp_r2*i)1)>0)
or (point(x+truncitmp_ri*xj)+1l,y+trunc(tmp_r2«i}J)>0)
then pset (LER-30+j,UP-30+1,7)
else preset (LER-30+j,UP-30+1);
end
else

for i:= 0 to 23 do
for j := 0 to 23 do
begin
if(point(x+trunc{(tmp_rl*j),y+trunc(tmp_r2*i))>0)
then pset (LER-30+j,UP-30+i,7)
else preset (LER-30+j,UP-30+i);
end;
gaiji_get (LER-30,UP-30,1,gailji_dat);
get (LER-30,UP~30,LER~30+23,UP-30+23,0fs(gdatal11[0]),seg(gdatall1l01),230);
writeln('");
end;

procedure gazoget:
var
tmpl : integer
off ! integer
iro : integer
data : array[0..1000] of byte ; {* get data of byte x}
da_dam : arrayf{0..200] of byte;
i,i,k  integer . {* loop counter or temp number x*}
fp : file ;
const
KAIE
VB
VR
VG
label
OWARTI;
begin
cls;
cirscer:
esc_seq(REVER,WHITE);
writeln¢!' .
writeln(" Ef%‘f
writeln(' =
writein('
esc_seq(RESET,0);
writeln('*);
writeln(''); . Y
vriteln( BT —AABT 7 ANLEANTTEN [OTHEDT7ANL HET]
readln(ansl);
if ansI{0J = '0' then goto O¥ARI;
cls;
cirser;
assign(fp,ansl);
reset (fp);
off := 0;
iro := 0;

{* tempalary *}

1140;

$a800;
$b000;
$b800;

wuonu

— 2 DIAT)
9;§§§fmm3il_$%__?r

N )

0 to 380 do
begin
blockread(fp,data,l,tmpl);
{
blockread(fp,da_dam,1,tnpl);
blockread(fp,da_dam,1,tmpl);
}
for ii= 0 to 79 do
begin
mem[VR:off+i]
mem[{VG:ioff+i]
mem[VB:off+i]
) end;
of f := off + 80;
end;
{* mouse *)
pic_copy;
close(fp);

( datali+2]1);
( datali+21);
( datali+21);

OWAR1:
cls;
end;



procedure bsort(cou:integer;var data,mata:sortbuf;ookijvun:integer);

var
i,i.k,tmp,cou2: integer
begin
if cou > 1 then
begin
cou2 := cou - 11;

if couZz < 2 then cou2 := 2;

for i:= cou downto cou2
for j:=1 to i-1 do
begin

do

if ookijyun = 0 then

begin

if dataljl >= datalj+1] then

begin

tmp := dataljl;
dataljl := datalj+11];
datal j+1] := tmp;

tmp := mataljl;
mataljl := matalj+11;
matalj+1] := tmp;

end;
end;

if oagkijvun = 1 then

begin

if dataljl <= datalj+l] then

begin

tmp := dataljl:
dataljl := datalj+1]:

datalj+1] := tmp;
tmp := matalil;
matalj]l = matal[j+1];
mata{ j+1] := tmp;
end;
end;
end;
end;
end:
procedure senmitu3(var mata,mb00:sortbuf);
var
X,y : integer H
XX,YY ¢ integer H
linel,line2: integer H
i,j,k,11 : integer ;
rui_do2: integer ;
ref_dat: getbuf HER S char. read buf *}
r_byte : integer N real read bytes *}
fsize : integer o {x max file size *}
isum : integer ;
tmp_real . real H
tmp_int : integer
m2wa,r2va . real ;
im2wa,ir2wa,rui_do,rui_min: integer;
lpu,ipd,lpl,lpr: array(0..23] of byte ;
Ipu2,ipd2,ipl2,Ipr2:arvay(0..47]1 of byte;
limit : integer H
fs o file ; '
osh: array(0..12] of string[l10];
label
OUT1;
begin
osh{0] := L/i{
osh[1l] := "="
osh[2] := '
osh[3] := 'é&':
osh[4] := *{&;
osh{5] := *'2D";
osh[6] := ’7:':
oshl7] := '42';
osh[8] = * %"
osh[9] := " &X'}
psh[10] := '§°;
osh[11] := ', '

assign(fs,'d:se
reset(fs);

limit 1= 60x(ue
for x:= 0 to 11
begin
XX 1= X
linel :=
linez :=
for y:=0
begin
if
if
end;
Ipul
end;
for v:= 0 to 11
begin
yy =Y
linel :=
fine2 :=
for x:=0

begin

nmitu.dat'>y;

+ rue + lueg + yoko):
do (s ERFIIND )
* 2

03

0;

to 23 do

((point(100+xx,299+y)=0) and (point(l00+xx,300+y)=7))

then
linel := linel + 1;

((point(101+xXx,299+y)=0) and (point(101+xx,300+y)=7))

then
line2 := line2 + 1;

%1 := (linel + line2) * 2;
do (% Eﬁrﬂﬁ‘% *)

* 2

03

0;
to 23 do



if((point(99+x,300+yy)=0) and (point(100+x,300+yy)=7))
then
Jinel := linel + 1;
If((point(99+x,301+yy)=0) and (point(100+x,301+yy)=7))
then
line2 := line2 + 1;

end;
Iplly] = (linel + line2)%2;
end; .
for y:= 0 to 23 do {* ZZEFHFEMND
begin
j =23 -y
linel := 0;
line2 := 0;
for x:= 0 to j do
begin
if((point(99+x,299+x+y)>=0) and (point(100+%,300+x+y)=7))
then
Iinel := linel + 1;
if((point(99+x+y,299+%x)=0) and (point(l00+x+y,300+x}¥=7))
then
line2 = lineZ + 1;
end;

Ipl2lyl := line2;
Ipl2ly+24] t= linel;

end; N
for vi= 0 to 23 do (x HLAMMS «
begin
ii= 23 -y
linel := 0;
iine2 := 0:

for x:= 0 to j do

begin
if{point(124-~%,299+x+y)=0) and (point(123-x,300+x+y)=7))
then
finel (= Iinel + 1;
if((point(124~x-y,299+x)=0) and (point(123-x-y,300+X)=7))
then
line2 (= line2 + 1;
end;
iprziyl = line2;
. Ipr2ly+24]1 := linel;
end;
for j := 0 to 11 do
begin
k = j%4;
1pd[i) := lpl2[k)l+1pl2(k+1)+1pl2[k+23+1pl2(k+3];
end; '
for j := 0 to 11 do
begin
K 1= %4,
Ipr(j) := lpr2lkI+lpr2[k+11+lpr2(k+23+1pr2(k+3];
end:
for j := 3 to 14 do
ref_datfjl := Ipulj-31; (x k£ %
for j := 15 to 26 do
ref_dat{jl := lpd[j~151; (% ZE L #)
for j = 27 to 38 do
ref_dat(jl := Ipl(j~271; (% 48 #
for j := 39 to 50 do
ref_dat[jl := lpr[i=391; (x AL %
m2wa = 0;
for j:= 3 to 50 do
begin
m2wa := m2va. + ref_datl(jl*ref_datl(jl;
end;
mZwa := sqrt(m2wva);
seek(fs,200);
I := 0;
i 1= 200;
if svakudo = L1 then
begin .
rui_min := 1000;
while (i <=3200) do
begin
blockread(fs,moj_dat,300,tmpl);
for m:=0 to 299 do

begin
rui_de := 0;
for j:= 3 to 50 do
begin
rui_do := rui_do+abs(moj_datiml(jl~ref_datl(jl);
end;
if rui_do < rui_min then
begin
rui_min := rui_do;
koko = 1 o+ om,
end;
if rui_do < limit then
begin
1 =1 + 1;
mHo0L1] = i ¢ m;
matall] := rui_do;
end;

if-hide2 = (i + m) then
koko2 := rui_do:
end;
i 1= 1 + 300;
end;



bsort<l,mata,mb500,1);

end;
if syakudo = L2 then
begin
rui_min := 1000;
while (i <=3200) do
begin

blockread(fs,moj_dat, 300, tmpl);
for m:=0 to 299 do
begin
rui_do :=
for j:= 3
begin
rui_do2 := moj_datIml{jl-ref_datljl;
rui_do := rui_do+rui_do2x*rui_do2;
if rui_do > 1000 then
begin
rui_do := 10000;
goto OUT1;
end;

0;
to 50 do

end;
ruei_do := round(sqrt(rui_do));
ouT1:
if rei_do < rui_min. then
begin
rei_min := rui_do;
koko HERD A M
end;
if rui_do < limit then
begin
1
m500[11]
matall]
end;
if hide2 = (i + m) then
koko2 := rui_do;

+ 1;
i+ m;
rui_do;

[LIN B ]

end:
i 1= 1 + 300;
end;
bsort (i,mata,mb00,1);
end;
if syakudo = RUI then
begin
rui_min := 0;
i = 200;
1 := 03
11 1= 0; .
gotoxy(20,17);
write(! ",
gotoxy (20,17,
while (i <=3200) do
begin
write(oshl111);
11 1= 11 + 1;
blockread(fs,moj_dat,300,tmpl);
for m:=0 to 299 do '
.begin
tmp_real 03
tmp_int = 0;
for j:= 3 to 50 do
begin
tmp_real := tmp_real+(moj_datimllil*ref_datlil);:
end;
r2va := moj_dat[{ml[511%256+moj_datiml[52];
if (r2va>0) and (m2wa>0)
then
rui_do := trunc((tmp_real /{(r2va*m2wa))*10000);
if rui_do > rui_min then
begin
rui_min := rui_do:
koko =oio+omg
end;
if rui_do > 900 then
begin
1 =1
mb00[11]
matall]
end; .
if hide2 = (i + m) then
koko2 := rui_do;

+

H
i+ m;
rui_do;

n o~

end;

i = 1 + 300;
end; ’
bsort(l,mata,m500,0);

end;
close(fs);

end;
procedure messyu{(var mata,mb00:sortbuf);
var
X,y : integer :
i, 3.k, 11,111: integer H
{* char. read buf *}

ref_dat: getbufl ;

r_byte : integer ;o {* real read bytes *}
fsize integer MR max f{ile size %}
isum @ integer :

tmp_int: integer H

rui_do,rui_min: integer :

rui _do2: integer B

rowd rarray[0..23,0..23] of byte;

limit integer :



const

label

{s

tmp_real
m2wa,r2wva

file :

real )
real H

osh: array[0..12] of stringl[l01];

UNITSIZE

OUT1;
begin

38,

osh{01]
oshl1l1]
osh{21]
osh[31]
osh{4]
oshl5]
oshl[61]
osh[71]
osh[81]
oshi{9}1 :
osh[10}]l := ?%ﬁ
osh[11] := ', ';
assign(fs,'d:messyu.dat');
reset (fs,UNITSIZE);
tmp_int := 0;
for »:=0 to 23 do
for y:=0 to 23 do
begin
rowd(x1lyl := 0;
if (point(100+x,300+y> > 0) then
rowdIxilyl := 1;

end;
tmp := 0;
for i:= 0 to & do
for j:=0 to 5 do
begin
ref_datltmpl := 0;
for k:=0 to 3 do
for 111:=0 to 3 do

begin
ref_datltmpl := ref_datltmpl + rowd{ j*4+11]1]10i*4+k];
end;
tmp := tmp + 1;
end;
m2wa := 0;
for j:= 0 to 35 do
begin .
m2wa = m2wa + ref_datljl*ref_datljl;
end;

m2wa := sqrtim2wa);
seek(fs,200);
I 1= 0,
i = 200;
if syakudo = L1 then
begin
rui_min := 1000;
timit = 130;
while (i <(=3200) do
begin
blockread(fs,mo_dat,300,tmpl);
for m:=0 to 299 do

begin
rui_do := 03
for j:= 0 to 35 do
begin
rui_do := rui_do+abs(mo_datIml[jl~ref_datlijl);
end;
if rui_do < rui_min then
begin
rui_min = rui_do;
koko =i + m;
end;
if rui_do < Iimit then
begin
1 = 1+ 13
mE00L1I] = i + m;
matalll := rui_do:
end;

if hide2 = (i + m) then
koko2 := rui_do;

end;

i = 1 + 300;
end. )
bsort(l,mata,m500,1);

end;
if syakudo = L2 then
begin
rui_min := 1000;
limit 1= 200
wvhile (i <=3200) do
begin

blockread(fs,mo_dat,300,tmpl);
for m:=0 to 299 do
begin
rui_do := 0;
for j:= 0 to 35 do
begin
rui_do2 := mo.dat[mlljl-ref_datljl:
rui_do := rui_do+rui_do2%rui_do2;
if (rui_do>400) then
begin



OUT1:

procedure
var

rui_do := 10000;

goto OUT1;
end;
end;
rui_do := round{(sqgrt(rui_do));

if rui_do < rui_min then

begin
rei_min = rui_do;
koko =i+ m;
end;
if rui_do < limit then
begin
1 =1+ 1;
mb00[1]1 = i + m;
matall]l := rui_do;
end;

if hide2 = (i + m) then
koko2 := rui_do;

end;
ior= 1 + 300;
end;
bsort(l,mata,m500,1);
end;
if syakudo = RUI then
“begin
rui_min := 0;
i = 200;
[ := 0:

11 := 0;

gotoxy(20,17);

writed’ '
gatoxy(20,17);

while (i <=3200) do

begin
write(oshil111);
11 = 11 + 1;

blockread(fs,mo_dat,300,tmpl);
for m:=0 to 299 do
begin
tmp_real := 0;
tmp_int := 0;
for j:= 0 to 35 do
begin

tmp_real := tmp_real+{(mo_datiml[jl*ref_dat[il);

end;

r2wa := mo_datiml[361%256+mo_datlml[371];

if (r2wa>0) and (m2wa>0)
then

rui_do := trunc((tmp_real /(r2wa*m2wa))*10000);

if rui_do > rui_min then

begin
rui_min := rui_do;
koko =1+ om;
end;
if rui_do > 900 then
begin
1 := 1 + 1;
m500[1] = i + m;
matalll := rui_do;
end;
if hide2 = (i + m) then
koko2 := rui_do;
end;
i =1 + 300;
end;
bsort(l,mata,m500,0);
end;
close(fs);
end;
moji_nin(syuhou:integer);
XY : integer :
i,j.k,m, 11 : integer H
ref_dat: getbuf HE char. read bufl #*}
rui_do ¢ integer ;
rui_do2 : ‘integer
{f_ruido : real ;
tmp_real : real H
tmp_int : integer :
im2wa,ir2wva : integer :
m2wa,r2va : real '
r_byte : integer RS real read bytes =}
fsize : integer M max file size *}
oshirase : array[0..12] of string[10];
rui_min: integer .
n500 : sortbuf H

mata : sortbuf H
ipu,lpd,ipl,lpr: arrayl[0..23]1 of byte ;
lpu2,lpd2,1pl2,1lpr2:arrayl0..231 of byte;
mX, my : integer H

label OUTL,0UT2;

begin
rui_min :=10000;
koko = 10%
oshirasef0]1 :
oshirasel1]
oshirasel2]
oshiraseld]
oshirasel4]

W

o onnon



oshirasel5]
oshivasel6]

<&
P

oshirasel7] := :
oshirasel8] := ' F H
oshirasel9] := '

oshirase[10] : 'éyu
ashirasefll] : v

iphe.dat');

@ h "

assign(fr, 'd:p
reset(fr);
mou_flush;
mousexrange(200,344);
mouseyrange(70,200);
mousepset(270,70);

repeat
nousepget (X,y,Iimb,rmb) ;
if  (y<300)
then
begin '
mx := LER;
ny := UP~30;
end;
if (y<300) and (x<300)
then
begin
mx := LER-30;
my := UP-30;
end;

line(mx-1,my~1,mx+24,my+24,4,1,0,0,0,0,0,0);

delay(200);

line(mx-1,my~1,mx+24,my+24,0,1,0,0,0,0,0,0);
until (Imb = 1);
line(mx-1,my~1,mx+24,my+24,2,1,0,0,0,0,0,0);
mou_f{lush;
get(mx,my,mx+23,my+23,0fs(gdataf31[(0]1),seg(gdatal31[01),230);
put(100,300,0fs(gdatal31[0]1),seg(gdatal31[01>,230,0,0,0,0);

if (syuhou <3) then
begin
for x:= 0 to 23 do (* _EAFEMNS
begin
y 1= 0;
vhile((point(100+xX,300+y) = 0) and (y<24)) do
y 1=y + 1,
Ipulxl := vy;
wvhile((point(l00+x,300+y) = 7) and (y<24)) do
y 1=y + 1;
while((point(100+x,300+y) = 0) and (y<24)) do
y 1=y + 1;
Ipu2lx] := y;
end; .
for x:= 0 to 23 do (x FAFMND x
begin
y 1= 23;
while((point(100+x,300+y) = 0) and (y>=0)) do
y =y - 1;
Ipdlx] := 23 - vy
while{((point(100+x,300+y) = 7) and (y>=0)) do
1= - 1;
vhile((point(100+x,300+y) = 0) and (y>=0)) do
y 1=y - 1;
Ipd2Ix] := 23 -y:
end; -
for v:i= 0 to 23 do (* ZEFEAMNS »
begin
X 1= 0;
while((point(100+x,300+y) = 0) and (x<24)) do
X 1= X + 1;
Iplly]l = x:
vhile((point (100+x,300+y) = 7) and (x<24)) do
X 1= ¥ + 1
while((point(100+x,300+y) = 0) and (x<24)) do
X 1= R + 1;
Ipl2ly] = X
end; L
for yi= 0 to 23 do {(x HAEMD =)
begin '
X := 23;
while((point(100+x,300+y) = 0) and (x>=0)) do
X 1= x - 1
lpriyl := 23 - X:
while((point(100+x,300+y) = 7) and (x>=0)) do
X 1= X = 1;
while((point(100+xX,300+y) = 0) and (x>=0)) do s
X = X - 1;
lpr2lyl := 23 - x;
end;
kK = 0;
for j:= 0 to 5 do
begin
ref_dat[3+k] = 1pul j*41 +lpulj*4+1] +Ipulj*4+2] + Ipulj*k4+3];
ref_dat[9+k] = 1pd[j*4] +1pd[Ji*4+1] +1pd(j*4+2]1 + lpd[j*4+31;
ref_dat[15+k] := Jpl[j%4] +1pllj*4+11 +1pl[j*4+2] + 1pl[j*4+31;
ref_dat[21+k] := lprlj*4] +lpr{j*4+1]1 +1pr{j*4+2] + lprl j*4+31;
ref_datl[27+k] := I1pu2lj%41+ipu2[ j*4+13+1pu2l j*x4+21+1pu2(j*4+31;
ref_dat[33+k] := Ipd2[j*4]+Ipd2( j*4+11+1pd2( j*4+21+}1pd2[ j*4+31]1;
ref_dat[39+kl := I1pl2[j*41+1pl20 i*x4+11+1pl2[ j*4+2]+1pl2[j*4+31;
ref_dat[45+k] := 1pr2[ j*41+1pr2( j*x4+11+1pr2[j*4+21+1pr2li*4+31;
k := k + 1;
end:
mZwa := 0;
for j:= 3 to 50 do

begin



m2wa := m2wa + vef_datljl*ref_dat[jl;
end;
m2vwa := sqrt(m2waj;

o XNEFTERL o

seek({r,200);
1 1= 0;
i 1= 200;

if syuhou = 2 then

begin
11 := 0;
gotoxy(20,17);
write(' D
gotoxy(20,17);
if syakudo = L1 then

begin
while (i <(=3200) do
begin
write(oshirasellll);
11 =11 + 1 )
blockread(fr,moj_dat,300,tmpl);
for m:=0 to 299 do
begin
rui_do := 0;
for j:= 3 taoa 50 do
begin
rui_do := rui_do+abs(moj_datim]lljl-ref_dat{jl);
if rui_do > 600 then goto OUTI;
end;
OUT1:
if rui_do < rui_min then
begin
rui_min = rui._do;
koko =i+ om;
end;
if rui_do < 600 then
begin
I =1 + 13
mbOOLLI] = i + m;
matalll := rui_do;
end;
if hide2 = (i + m) then
koko2 := rui_do;
end;
i = 1 + 300;
end;
bsort (l,mata,m500,1);
end;
if syakudo = L2 then
begin
while (i <=3200) do
begin
write(oshirasel(l11);
11 1= 11 + 1
biockread(fr,moj_dat,300,tmpl>;
for m:=0 to 299 do
begin
rui_do2 := 0;
for j:= 3 to 50 do
begin '
rui_do := moj_datimlljl-ref_datlil;
rui_do2 := rui_do2+(rui_do*rui_do?;
if rui_do2 > 16900 then
begin
rui_do := 10000;
goto 0OUT2;
end:
end;
f_ruido := sgrt(rui_do2);
rui_do :=round{{_ruido);
ouT2:
if rui_do < rui_min then
begin
rui_min := rui_do;
kako = i + m;
end;
if rui_do < 130 then
begin
1 := 1 + 13
m500L1]) := i + m;
matalfll := rui_do;
end;
if hide2 = (i + m) then
koko2 := rui_do;
end;
i = 1+ 300;
end,
bsort(i,mata,m500,17;
end;
if syakudo = RUI then
begin
rui_min = 0;
i 1= 200;

b= 03
while (i <=3200) do



begin
vritetoshirasellll); ‘
o= 1 o+ 1y
blockread({fr,moj_dat,300,tmpl);
for m:=0 to 299 do

begin
tmp_real := 0;
tmp_int = 0
for j:= 3 to 50 do

begin

tmp_real := tmp_real+(moj_datlmlljil*ref_datljl);

end;

r2wa := moj_datiml[511*256+moj_datlmll[52];

if (r2wa>0) and (m2wa>0)
then
rui_do := trunc((tmp_real
if rui_do > rui_min then

begin
rui_min := rui_do;
koko =i + my
end;
if rui_do > 900 then
begin
I := 1 + 1,
m500[1] = i + m;
matalll := rui_do;
end;

if hidez = (i + m) then
koko2 := rui_do;

end;
i =1 + 300;

end;

bsort(l,mata,mb500,0);

‘end;
end;

end;
(x TREE «
if{ syuhou = 3 then

. senmitud(mata,mb00);
(x AW %)

if syuhou = 4 then

’ messyu{mata,m500);
reset (fr);

seek(fr,Koko); )
blockread(fr,ref_dat,l,.tmpl);
kanp24(172,300,7,ref_dat);

11 := 1 - 10;

if 11 <1 then 11 := 1;

j =03
‘for i:= 1 downto Il do
begin

o= o+ 1
reset (fry;
seek(fr,mb00[i]);
blockread(fr,ref_dat,1l,tmpl);
kanp24 (64+j*48,350,6,ref _dat);
gotoxy (8+j%6,22);
write(matalil:4);
end;
textcolor(2);
gotoxy(5,20);

/(r2va*m2wa))*10000);

writeln(' A » LImAET EARHA koko2);

textcolor(7);

repeat
mousepget (xX,y,lmb,rmb);

until (lmb = 1 ) or (rmb = 1);

if rmb = 1 then
begin
esc_seq(REVER,RED);
write('PLEASE ue,lue,rue,yoko 'J);
writeln(ue:3,lue:3,rue:3,vyoko:3);
read(ue, lue,rue,yoko):
esc_sea(RESET,0):
writeln(ue:3,lue:3,rue:3,v0ko0:3);
delay(1000);
end;

close(fry;

end;



{x M§ﬁ7v7§v57475U
(% 1986, 12, 3 I
: e S
(* VRA FZIAARESE %)
(% wpset preset *)
(% Xxor__line *)
(% *}
const
BLUE_RAM = $a800; {* V-RAM(BLUE) segment 32K *)
RED_RAM = $b000; {x V-RAM(RED)  segment 32K *)
GREEN_RAM = $b800; {* V-RAM(GREEN) segment 32K *)
SETT = $23;
USETT = $22;
XORTT = $21;
type

strg0 = stringl801;
procedure scro24;

var
i, i k: integer H
begin
for j:=283 downto 101 do
for it= 5 to 17 do
begin
Tk 1= jxBO+ix2;
memw[ BLUE_RAM:k+480] = memwI[BLUE_RAM:k1;
memw[RED_RAM:k+4801] = memw[RED_RAM:k1;
memw[GREEN_RAM:k+480]1 := memw[GREEN_RAM:k];
end;
end;
procedure sc24;
var
i,i.k: integer H
begin
for j:=283 downto 101 do
for i:= 5 to 17 do
begin
k = j*80+i%2;
menw[RED_RAM:k+640]1 := memw[RED_RAM:KI:
end;
end;
. procedure sc24i};
var
i.i ke integer H
begin
for j:=100 to 292 do
for i:= 6 to 17 do
begin
k 1= jkB0+i%2;
memw[RED_RAM:k-11 := memw[RED_RAM:k1;
end;
end;
procedure sc24r;
var
iviJke integer 5
begin
for j:=100 to 292 do
for i:= 16 downto b do
begin
k := jkBO+i%2;
memw[RED_RAM:k+11 := memw[RED_RAM:k1;
end;
end;
procedure scro24m;
var
i,i.ke integer H
begin
for j:=101 to 285 do
for i:= 6 to 18 do
begin
k 1= j*80+i%2;
memw[BLUE_RAM:k1] = menmwIBLUE_RAM:k+4801;
memw[RED_RAM:k1 = memw[RED_RAM:k+4801];
memw[GREEN_RAM:kX] := menmw[GREEN_RAM:k+4801;
end;
end;
procedure sc24m;
var
i,i.k: integer [
begin
' for j:=101 to 283 do
for i:= 5 to 17 do
begin
kK = jkB0+i%2;
memw[RED_RAM:k1 := menw[RED_RAM:Kk+6401;
end,
end;

procedure pset_hi(x,y:integer):

var
i,i,pl: integer H
: byte H
begin
j 1= (X mod 8);
k := $80 shr j.
pl = y*%80 + (x div 8):

mem[ BLUE_RAM:pl] = (mem[BLUE_RAM:p1]l or Kk);
mem[RED_RAM:pl] := (mem[RED_RAM:p1] or k)
mem[GREEN_RAM:pl) := (mem[GREEN_RAM:pl] or KkJ;

end;



procedure prset_hi(x,y:integer);

var

var

mem{ BLUE_RAM:pl1] -

integer H
byte H

(X mod 8);

not ($80 shr Jj);

= yx%80 + (x div 8);

(mem[BLUE_RAM:pl] and k)3

mem[RED_RAM:pl] := (mem[RED_RAM:pl] and Kk);

mem[ GREEN_RAM:p1]

i,Jj,pl:
X .
begin
J
k :
pl
end;

begin

(mem[GREEN_RAM:pl] and k);

procedure xor_line(xl,yl,x2,y2,iro!integer;kind:byte);
k :

byte ;
tmpl,tnp2 ¢ integer H
addr ¢ integer H
lo_add,hi_add: byte ;
dad : 1 byte H
dir : byte H
dc,d,d2,dl,dmn: integer '
dcl,dch ¢ byte H
di,dh ¢ byte H
d21,d2h : byte H
dli,dlh . byte H
dml,dmh . byte :

repeat

k := port($a0] and 4;

until (k = 4);

{(x Hm—h READ WRITE
(%« a2 Qj—‘g :;§§§88
(« a0 AF—=HAX| NFZA-X
dc := X2 - X1;
dl = y2 - yl;
if (de <= 0)
then
begin
dc := -dc;
if(di<o)
then
begin
dl := -dl;
if(dl >dc)
then
dir := 4
else
dir := 5;
end
else
if(dl>de)
then
dir := 7
else
dir := 6;
end
else
begin
if(dl<=0)
then
begin
dl := ~-dl;
if(dl >de)
then
dir := 3
else
dir := 2;
end
else
if(dl>de)
then
dir := 0
else
dir := 1;
end;

if(dir= 0) or (dir = 3) or(dir = 4) or (dir = 7)
then

begin
: tmpl := dl:
dl = dc;
dc = tmpl;
end;
dir := dir + §;
dcl := lod(dc);
.dch := hi(de);
dl = d1x2;
o dll = lo(dl);
dlh := hi(dl);
d 1= dl - dc;
dl  := lodd);
dh = hidd);
d2 :=d - dc;
d21 := lo(d2);
d2h := hi(d2);
if ((iro and 1) = 1) then
begin
addr := (X1 div 16) + yl x 40;
dad = (x1 mod 16) % 16;
lo_add loCaddr)

hi_add := hi(addr):



port(saz2l:= $78; (x TEXTY Q1111 XXX=0- LIAN EE * )
portl[$a0l:= ${f; (% U::/X&i oA }érﬁj%éi—‘?}é’ﬁjam*)
port[sa0l:= $ff; (% ‘lf\a)ézé": rgf, PUAHEES *)

{x { 3 RE 7 N *}

. DO e Le )
port{sa2l:= $49; (x cshy_ . FEEIZANIRE %)
port{sa0l:= lo_add; (% \71:\1/7\ )
port[$a0l:= hi_add+$40; (x* V7 NV . *)
port[$a0l:= dad; (% (}4 Clx jiki‘y MR 2DT w

(x  FHIMVIERER T A )

(k of SQL‘J\D?\ 'Z“‘j‘ %)
portisa2l:= $4c: (% YECT gy\g JUABRE #)
port[$a0l:= dir; (+ T [: 1 TS
portfsa0l:= dcl; {* delta X %)
port($a0]l:= dch;
port[(sa0l:= dl; (* 2%delita Y ~ delta X *}
port($a0l:= dh;
portl(sa0l:= d21; (% 2%delta Y - Zxdelta X *}
port(sa0l:= d2h;
repeat

k := port(sa0] and 4;
until (k = 4);
port(sa0l:= dl1l; {*x 2xdelta Y *}
port($a0l:= dlh;
port[(sa2l:= kind; (« XORTHEE T «
port($a2]l:= 36¢c;

(+ VECTE JHEIZR® )
end;
if ((iro and 2) =-2) then

begin
addr := (%1 div 16) + y1 * 40;
dad := (x1 mod 16)%16;
lo_add := tof{addr);
hi_add := hi(addr);
repeat

-k := port[$a0] and 4;
until (k = 4); VYA RFERE
port($a2]l:= $78; { % =0-7 Y/ *}
port[$a0l:= ${f; (% TR — IR E*)
port[$a0l:i= Sff: (% 1EE, *)

(% )/* *}
: o (% FEEELELE «
portl[$a2l:= $49; (%, C RE *)
port[$a0l:= Jo_add; (% "F&?'? ‘vl/ %)
port($a0l:= hi_add+$80; (* L7 RKLVA )
port[sa0l:= dad; x G %Li Q_%/ l\fﬁﬁi&@'c‘ *)

(x  FIDVEREZR T4 1L ®)

(% of setj\%\%“@‘ %}
port[sa2)i= $4c; (% %% ﬁ/\g JVFERE %)
port[$a0li= dir; (+ JRE BT 5 A %)
port[$a0l:= dcl; {*x delta X *}
port($a0l:= dch; '
portis$a0l:= dl; {* 2*%delta Y - delta X *)
port[$a0l:= dh; .
port[$a0l:= d21; {* 2xdelta Y - 2«deita X =*)
port{sa0l:= d2h;
portl[$a0l:= dll; {* 2%delta Y %}
repeat

k := port[sa0] and 4;
until (k = 4);
port[$a0l:= dlh;
port[$a2l:= kind; (« XORTHiEET »
portlsa2)l:= $6¢c;

(* VECTE THEZR® )
end;
if (C(iro and 4) = 4) then

begin
addr := (x1 div 16) + y1 * 40;
dad := (%1 mod 16)*16;
lo_add := lo(addr).
hi_add := hic(addr);
repeat

k := portl(sa0] and 4;

until (k = 4); . e
port[sa2):= $78; (+ TEXTY 01111xxx xxxz0-7 VIARIE
port[$a0l:= sff: {x 1/\}%1 s YA—HEE %
port($a0li= $if; (LY 2,;% SIS %)

(x ZO%EIED I ALONG *)

{* EV E§?¥§ﬁ%bib: *)
port[$a2l:= $49; (%, CSRY 8 SFEE %)
port[sa0l:= lo_add; (% ALY _1577}\:‘1/7\ *)
port[$a0l:= hi_add+$c0; {* AL . %)
port[$a0l:= dad; { Cld LBy bERRDT

(o RDEEE T Sl )

{ % of e t\‘dﬁ%g?%ru *)
port[sa2li= Sdc; (% %%%&E WY NIVRERE %)
port[$a0l:= dir; (x FHE] |8 7 [ *)
port{$a0l:= dcl; (% delta X *}
port{(sadl:= dch;
portlsa0l:= dl; {* 2xdelta Y - delta X %}
port[$a0l:= dh;
poertl$a0l:= d21; {*x 2xdelta Y ~ 2xdelta X %}
port[$a0l:= d2h: .
port[sa0]l:= dll; (% 2xdelta Y * )
repeat

k := portl{sa0] and 4;
until (kx = 4);
port[$a0]:= dih;
port{sa2i:= kind: (+ XORTHIEET »
portlsa2l:= $6¢C;



end;

end:
procedure fastwrite(col,rowv,attrib

begin
inline

($le/

$le/
$8a/$86/row/
$b3/%$50/
§{6/%e3/
$52b/%db/
$8a/%%e/col/
$03/%c3/
$03/%c0/
$8b/$18/
$h7/%00/
$c4/3b6/str/
$2b/%c9/
$26/%$8a/3%0c/
$2b/%c0/
$1€/
$22/%¢c9/
$74/%03/
$5eb/$04/590/
$e9/%aa/$00/
$ba/$a000/
$80/%da/
3bh6/800/
$8a/%$96/attrib/
$46/
$26/%8a/3%1c/
$80/5fb/$80/
$72/%4d/
$80/5fb/%e0/
$73/%05/
$80/%fb/5a0/
$73/%43/
$fe/$c9/
$46/
$26/%8a/%$3c/
$86/%fb/
$81/%fb/$2020/
$75/%$03/
sbb/$2121/
$80/$f{/$80/
$72/%2d/
$80/%1f/%a0/
$73/%806/
$80/%e{/$70/
$eb/$09/3590/
$80/8ff/5f0/
$73/%1d/
$80/%ef/$b0/
$0a/$db/
$79/%02/
$fe/S$cb/
$02/%€f/
$80/5{b/%3e/
$72/%06/
$80/%eb/s5e/
$eb/$03/%90/
sfe/scf/
$80/%eb/s1f/

- $86/%fb/
$e4/%$60/
$a8/%04/
$74/%fa/
$b0/$0d/
$e6/%62/
$fa/
$e4/%60/
$a8/$04/
$74/%ef/
$80/%(f/%00/
$74/$03/
$80/%eb/$20/
$89/%1d/
$80/$ff/%00/
$74/$08/
$47/

$47/
$80/%c7/%80/
$89/%1d/
$4f/

$4f/

$le/

$52/
$ba/$a200/
$8e/%da/
‘$ba/
$89/$156/
$80/5ff/500/
$74/%$04/
$47/

$47/
$89/$15/
811/

$47/

byte

(* VECTE  FHHIZRSD *)

,var str str8o);



end;

$47/
$b7/%500/
$e2/3503/
$eb/$04/390/
$e9/861/5ff/
$1{):




* Hard copy library

for PC-PR20IT and its compatibles
made in KITILAND

28/Nov./1986 version 1.0

Copy right (c) ATR 1986 %}

rocedure hard_copy_screen;

const [t 0>&§
~5Cr 3,0 1) *)
(*W% %& JﬁUZQ#ﬁé
BLUE_RAM = $a800; {* V-RAM(BLUE) segment 32K *)
RED_RAM = $b000; {* V-RAM(RED) segment 32K x)
GREEN_RAM = $b800: {* V-RAM(GREEN) segment 32K *}
var
i,ik,1,m integer ; {* counter )
rl integer ; {*temporaly x*}
tmp array[0..2,0..7] of byte; {(* out data *}
t1,t2,t3,t4,t5,t6,t7,t8 byte ; {* in data *}
rocedure out_printerdc byte )
begin
while (port[$42] and $04) <> $04 do:
port[$40]1 := c; port{$461 := 14; port($46]1 := 15;
end;
begin . .
write(LST,Chr(s$1b),Chr(s4b)): (x EQ%L?‘; . '-qzﬂi*ffi * )
write(LST,Chr($1b),Chr($4d)); <* l\;z ;(;EQ7774‘/9 3{\47‘47 %)
write(LST,chr(slc),chr(s42)); i —?Lfbé’a /5 %)
write(LST,chr(slb),chr($65), '22 ) %Cig)érjé 4 1544 ]
write(LST,chr($lb),chr($54),'18'); AT e 187120 *)
(% i%ﬁi?‘é%—&@)l@?&VRAMwﬂm %)
{* lcolum 2colum 3colum --- 640colum
LSB 1 1
lbyte 4byte 1910byte
MSB 8 8
g g
2byte . Sbyte 1919byte
16 16
17 17
3byte . 6byte 1920byte
24 24 %)
for i:=0 to 16 do_
begin
1 1= i % 1920;
wrlte(LST chr(s b) $4a ,
o S AR R SR L O A e £ o
for j:=0 to 79 do
begin
for m:=0 to 2 do
begin
pl := 1 + j + mx640;
tl1 := mem[BLUE_RAM:pl+ 01 or mem[RED_RAM:pl+ 0] or mem[GREEN_RAM:pl+ 01;
t2 := mem[BLUE_RAM:pl+ 801 or mem[RED_RAM:pl+ 80] or mem{GREEN_RAM:pl+ 801;
t3 := mem[BLUE_RAM:pl1+1601 or mem{RED_RAM:pl+160]1 or mem[GREEN_RAM:pl1+1601];
t4 := mem[BLUE_RAM:p1+240] or mem{RED_RAM:pl1+240] or mem[GREEN_RAM:pl1+240];
t5 := mem[BLUE_RAM:pl1+320] or mem[RED_RAM:p1+320]1 or meml{GREEN_RAM:p1+3201;
t6 := mem[BLUE_RAM:p1+400]1 or mem[RED_RAM:p1+400] or mem[GREEN_RAM:pl1+4007];
t7 := mem{BLUE_RAM:p1+480] or mem[{RED_RAM:p1+480] or mem[GREEN_RAM:p1+480];
t8 := mem{BLUE_RAM:pl+560]1 or mem[RED_RAM:pl1+560]1 or mem[GREEN_RAM:pl1+5601;
for k:=0 to 7 do
begin
tmpImllk] := (tl and 1)*1+(t2 and 1)*2+(t3 and 1)*4+(t4 and 1)*8+(t5 and 1)*16;
tmpIml{k] := tmplmllkl +(t6 and 1)*32+(t7 and 1)*64+(18 and 1)#*128;
tl1 := (t1 shr 1);
t2 := (t2 shr 1):
t3 = (t3 shr 1);
t4 := (t4 shr 1);
ts := (t5 shr 13;
t6 := (t6 shr 1);
t7 := (t7 shr 1);
t8 := (t8 shr 1);
end;

end;

@O)/\— “jk: %k/‘{ o

for k:=7 downto 0 do (+ FUVHA—~HA 8FH (2454 ).

begin
for m:=0 to 2 do

begin

out_printer(tmplmllkl);

end;
end;
end;
¥riteln(LST,Chr($0d));
end;
Writeln(LST,chr($lb),chr($6l));

end;

¥riteln(LST,Chr($lb),Chr($63),chr($31’);

(«+ B4 0 Kw Mg [CR] 215 »

 TUVRUEY K w
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Mouse library for Turbo Pascal
This file must be included by I compiler directive,
This is for mouse.sys driver.

Coded by Hideki Kawahara. ©5/4/1986.
Rev. by Hideki Kawahara. 21/4/1986.
Cf. "Detailed description of PC-98 Extended

System Calls”,Interface separate vol.,1986-4.
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type
register = record

ax,bx,cx,dx,bp,si,di,ds,es,flags ! integer ;

end ;

figure = array[0..63] of byte;

var
reg : register ;

procedure mouseinit;
begin
with reg do begin
ax = 0;
end;
intr($33,reg);
end;

procedure mousedisp;
begin
with reg do begin
ax = 01;
end;
intr(s33,reg);
end;

procedure mouseerase;
begin
with reg do begin
ax = $02;
end;
intr($33,reg);
end;

procedure mousepget(var x,y,lmb,rmb

begin
with reg do begin
ax := $03;
end;

intr($33,reg).:
wvith reg do begin

X 1= CX;,

y = dx;

if ax <> 0 then
Imb =1

else
Imb := 0;

if bx <> 0 then
rmb := 1

else
rmb := 0;

end;

end;

procedure mousepset(X,y.:

begin :
with reg do begin
ax = $04;
CX = X,
dx = vy
end;
intr(s33,reg);
end;

integer

procedure mouselbp(var st,n,X,Vy

begin
with reg do begin
ax = $05;
end;

intr($33,reg);
with reg do begin

st = ax;

n = b¥;

b4 = CX;

y = dx.
end;

end;

procedure mouselbo(var st,n, X,y

begin
vith reg do begin
ax := $06;
end;

intr($33,reg’.
with reg do begin

st = ax;

n = b¥:

X = CcX;

y = dx;
end;

end;

integer);

{ mouse coordinate } )

integer { stat and number of press } );

integer ).



procedure mouserbp(var st,n,x,y
begin
with reg do begin
ax := $07;
end;
intr($33,reg);
with reg do begin

st 1= ax;
n = bx;
X = CX;
y = dXx;
end.;
end;
procedure mouserbo(var st,n,X,y
begin
vith reg do begin
ax := $08;
end;

intr(s33,reg);
vith reg do begin

st = ax;
n = bX:
X = CX;
y = dx;
end;
end;
procedure mouseshape(x,y
var shape
begin
with reg do begin
ax := $09;
bx 1= X,
cX = Y,
es := Seg(shape);
dx := Ofs{(shape);
end;
intr($33,reg);
end; E

procedure mousedistance(var x,y
begin
reg.ax := $0b;
intr($33,reeg);
X = reg.cx;
y = reg.dx;
end;

procedure mousesens(xmick,ymick
begin

reg.ax := $0f;
reg.cx := Xmick;
reg.dx := ymick;
intr(s3ad,reg); -
end; )

integer J;

integer 1},

integer ; (
figure J;

integer );

integer );

procedure mousexrange(xl,x2 : integer );

begin
reg.ax := $10;
reg.cx := Xl;
reg.dx := X2,
intr(s33,reg);
end;

procedure mouseyrange(yl.y2 : integer );

begin :
reg.ax := $11; '
reg.cx = vyl;
reg.dx := y2;
intr($33,reg);

end;

procedure mousecolor(ccode : integer );

begin
reg.ax = $12;
reg.bx := ccode;

intr(%33,reg);
end;

center of

cursor }
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const
REV_IND = 0;
IND = 1;
VERTI = 2;
U_LINE = 4;
BLINK = b}
REV_BL = 6;
REVER =73
RESET = 8
BLACK = 30;
BLUE = 34,
RED = 31
PURPLE = 35;
GREEN = 32,
SKYBLUE = 36
YELLOW = 33;
WHITE = 37;

var

loop: integer ;  {* loop counter

procedure esc_seq{(psl,ps2:integer);

begin
case psl of
REV_IND:
begin {* Reverse Index x*}
for loop:= 1 to ps2 do
write('');
end;
IND:
begin {* Index *}

for loop:= 1 to ps2 do
write('");

end;
‘VERT1!:
begin {* vertical line x}
write('',2,':m");
end;
U_LINE:
begin {* under line *}
writeC'',4,';",ps2,"sm');
end:
BLINK:
begin {* blink line *}
write('',5,"';',ps2,';m");
end;
REV_BL:
begin {* blink line %)
write('',5,';",ps2+10,"';m");
end;
REVER:
begin (* reverse line %)
writeC('',7,";',ps2,';m');
end;’
RESET:
begin {* reset *}
wvrite('m");
end:

—tmp- *)
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procedure err_hand; L%
begin {* errorptr := ofs(err_hand) »*}
if hiCerr_num) = 1 then
begin

textcolor(6);
writeln¢’ rte .
vriteln(' IBESINET7ANVDNEELERA
vritelnc'’

textcolor(7);

end;
if hi{err_num)

= 0 then
write1n<'ctri—c’i?ﬁlbibf‘:nw;
= 2 then

if hiterr_num
begin

textcolor(z);

~iteln O N IEERIE
aritein( 7 IHERD

S
[Bafe)]
M
Hwo
CHE
e
B

textcolor(7);

end;
cursor_on;
end;



{ this file is J156234(24%24) display liblary }
{ J186232(16%16) )
{ avail graphic routine made in KITI
{ 1986.10.14 }
type
getbuf = array [0..127] of byte;
putbuf = array [0..1] of byte; R
procedure jistosj(var cuf :putbuf) JISOa— 7% 7RI IS x
begin (*ﬂ%& cuf [0] JISa—RER *)
if odd(cuffo]l) = false (% cuf [1] JISOd-=FF 5}
then (*» UR—>Ycuf (0 SJISH—‘%F *}
begin o cuf T11 8T IST-FFf
cufl(1] := cuffl] + 126;
if cufl0]l < 95
then
cufl0] := (cufl0] div 2) + 112
else
cufl0] := (cufl[0] div 2) + 176;
end
else
begin
cuf{1] := cufll] + 31;
if cufl0] < 95
then
cuf[0] := ((cufl[0] + 1) div 2) + 112
else
cuf{0] := ((cuff{01 + 1) div 2) + 176,
if cuf[1] >= 126
then cufll1]l := cuflf1] + I;
end;
end;
procedure SJto_ns(val cuf utbuf) w JISOd=FR 7I\JIS’\ ®}
=5 "c 0] JIsa—RER
M CU, 11 JISO=FTRAL, *)
(*UQ Yeuf [O0] SJISO— %y *)
(% cuf [1'] SJLSI—KF =
begin
if cuffl] >= 159
then
begin
cufl1] := cuf(1] - 126;
if cufl0]1 >= 224
then
cufl0} := (cufl0] -176) * 2
else
cuf[0] := (cuf[0) ~112) * 2;
end
else
begin
cuffl1] := cuf[1] - 31;
if cuf(1l >= 97
then
cufll]l := cuflfll ~1;
if cufl0} >= 224
then
cuf[0] := (cuff0] - 176) * 2 - 1
else
cuf(0l := (cufl[0] - 112) % 2 - 1}
end;
end;
proc %2 e kanpxe( (vs:integeribufigetbuf); (x 1 6 KY hFoR «
Ei %5{ gl\/?;’%ﬁé VANAY BN AL
(* X *}
{ 541\ téb"o RT A WNEET HE *)
(x 85N1\A iz *}
var
i,j,tmp integer H
X,y integer h
begin
X = 03
y 1= 0,
for j :=54 to 85 do
begin
for i := 7 downto. .0 do
begin
X 1= X + 1;
tmp := (bufl(jl shr i);
if odd(tmp) = true
then pset (Xs+X,Y8*y,7);
{ else preset (xs+x,ys+y); }
end;
if (i mod 2> = 1
then vy =y + 1;
if (¢ mod 16) = 0
then x = 0;
end:
kan 24¢ ys,iro: er;huf:getbuf); {x 24 K "R #)
”ﬁj%%'é ;g YR ﬁ%@’ TMSERH LRSS
INA = *}
{x 541\ 75\6 T — AT B %)
% 125/\/( *}
var
i,i,tmp integer H
X,y integer H
begin
X 1= 0;



y = 0;
XSs = XS -1;
for j :=54 to 125 do
begin
for i := 7 downto 0 do
begin
X 1= X + 1;
tmp  := (buf[jl shr
if odd(tmp) = true
then
pset _hi(xs+x,ys+y);
{ pset (Xs+X,ys+y,iro); }
{ else preset (Xs+x,ys+y); }
end;
(i mod 3) =
then v = vy
(x mod 24) = 0
then x := 0;

i)

if 2
+ 13
if

end;
end;
function cal_se(cuf:putbuf):
begin

integer; (x J 1 SO~ KWhOEEERERETS «
if (cuflf0] < 37)
then cal_se :
if C(cuffdl >
then cal_se :
if C(cufl0l >
then cal_se
if (cufl0) >
then cal_se

1
37)
200
48)
525
55)
1100

else and (cuff0l < 48)

else and (cuf[0] <

else and (cuff0] <

and

end;

if (cuflo0]
then cal_se
il (curfol
then cal_se
if (cuflO0}
then cal_se
if (cufl[0]
then cal_se
if (cuffo0]

else
else
else
else

else

then cal_se :

else if (cuflo0}
then cal_se
if (cufl0}
then cal_se
if (cuffo]
then cal_se
if (cuf[0}
then cal_se

else
else

else

60 )
1600
65 ) and
2100
70
= 2500
>=75 ) and
3000
80 )
3400
85 )
3900
90 ) and
4400

>

> and

oo oo o NN

> and

> and
>

>

L L N | L £ N L N T N I 1§

5300

(cufl0] <

(cufl0]
(cufl0]
(cufl0]
(cuflo]
(cufl0]

(cuflo]

<
<

100)

100 ) and (cuff0] <110)

5=110 ) and (cuf[0]1 <120)

i= 6300,
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Graphic Library of Turbo Pascal using EGR98:
This file must be included by 1| compiler directive.
THIS IS FOR NEC PCY9801F/E GRAPHIC LIO.

(C) 1984 Y.FUKADA

: 1st version .... Sept. 28, 1984
2nd version .... Oct. 1, 1984
3rd version .... Oct. 6. 1984
4th and final v. Oct. 8. 1984
added cursor control.... Oct.11
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type scr = record
argl,arg2,argd,arg4 : byte
end;

vi = record
argl,arg2,arg3,arg4 : integer;
arghb,argé . byte
end;

col = record
argl,arg2,arg3 . byte
end;

col2= record
argl,arg?2 . byte
end;

ps = record
argl,arg2 . integer;
argsl . byte
end;

li = record
argl,arg2,argd,argd4 : integer;
argh,arg6,arg7,arg8,arg9,argl0 : byte;

argll,argl?2 ¢ integer
end;
cir = record
argl,arg2,argd,argd4 . integer;
arghb,argé ! byte;
arg7,arg8,arg%,arglo: .integer;
argll : byte;
argl2,argl3 : integer
end;
pa = record s
argl,arg? ¢ integer;
argd,arg4 ¢ byte
end;

pa2 = record

argl,argz2 : integer;
dummy,args3 : byte;
argd,argb ! integer:
argé . byte
end;
ge = record
argl,arg2,argd,argd4,argb,argb,arg?7 : integer
end;
pu = record

argl,arg2,arg3d,arg4,argh ! integer;
arg6,arg?,arg8,arg9 : byte

end;
ka = record
argl,arg2,arsgsd : integer;
arg4,argb,argb,arg? : byte
.end;

rol = record

argl,arg2 : integer;
argd : byte
end; '
po = record
argl,arg? : integer
end;
pr = record
argl,arg? : integer;
arg3d . byte
end;

procedure graph(func, segbase, offset: integer); external ‘PASGRAPH':

procedure init;
begin
graph(o,0,0)
end;



procedure screeni(mode,sv,ac,disp: byte);
var screen_arg: scr;
seg_arg, offset_arg: integer;

begin
with screen_arg do
begin
argl := mode;
argz = sv;
argd := ac;
arg4 = disp
end;
seg._arg := seg{(screen_arg);
offset_arg := ofs(screen_arg);
graph(l, seg_arg, offset_arg)
end;

procedure view(xl,yl,x2,y2: integer; ca,cb: byte);
var view_arg: vi;
seg_arg, offset_arg: integer;

begin
with view_arg do
begin
argl = x1;
arg2 := vl;
argld = x2;
arg4 1= y2;
argh = ca;
argé := cb
end;
seg_arg .= seg(viev_arg),
offset_arg := ofs{(viev_arg);
graph(2, seg_arg, offset_arg)
end;

procedure color(cbg,cbhd,cfg: byte);
var color_arg: col;
seg_arg, offset_arg: integer;

begin
with color_arg do
begin
argl = cbhg;
arg2 := chd;
argd = cfg
end;

seg_arg = seg(color_arg):

of fset_arg := ofs(color_arg);

graph(3, seg_arg, offset_arg)
end;

procedure color2{(pal,cc: byte);
var color2_arg: col2;
seg_arg, offset_arg: integer;

begin
vith color2_arg do
begin
argl := pal;
arg2 := cc
end;
seg_arg .= seg(color2_arg?;
offset_arg := ofs(color2_arg);
graph(4, seg_arg, offset_arg)
end;

procedure cls;
begin
graph(5,0,0)
end;

pracedure pset(x,y: integer; pal: byte}:
var .
pset_arg: ps;
seg_arg, offset_arg: integer;

begin _
with pset_arg do
begin
argl := x;
arg2 1= vy;
argd .= pal
end;

seg_arg = seglpset_arg);

of fset_arg := ofs(pset_argy;

graph(6, seg_arg, offset_arg)
end;

procedure liné(x!l,vyl,x2,y2: integer; pall,dc,lsw,pal2: byte;
Istyle: integer; lentile: byte; ofstile,segtile:
var
line_arg: 1i:
seg_arg, offset_arg : integer;

begin
with line_arg do
begin

argl := x1;
arg2 = vl;
argld = X2,
argd 1= y2,
argb := pall;
argb := dc;
arg? = Iswv;

case arg6xlo+arg7 of

integer);

1,2,11,12: begin argd := lo(lstyle); arg9d := hi(lstyle) end;



21: arg8 := pal2,
22: begin argl0 := lentile; argll := ofstile;
end;
end;

seg_arg := seg(line_areg);

offset_arg := ofs(line_arg);

graph(7,.seg_arg,offset_arg)

end:

procedure circle(cx,cy,rx,ry: integer; pall,flag: byte;
sx,sy,ex,ey: integer; lentile: byte;
ofstile,segtile: integer);
var circle_arg: cir;
seg_arg, offset_arg: integer;

begin
with circle_arg do
begin
argl := cx;
arg2 .= cv.
argd = rx;
arg4 = ry;
arghb := pall;
arge := flag;
arg? = s¥;
arg8 := sy;
arg9 = ex;
arglo := ey,
argll := lentile;
argl2 := ofstile;
arglld := segtile
end;
seg_arg := segl(circle_arg);
offset_arg := ofs(circle_arg);
graph(8, seg_arg, offset_arg)
end;

procedure paint(x,y: integer; pall,pal2: byte);
var paint_arg: pa;
seg_arg, offset_arg: integer;

begin
with paint_arg do

begin
argl := X
arg2 =y,
argd := pall;
arg4 := pal2

end;

seg_arg := seg(paint_arg);

offset_arg := ofs(paint_arg},;

graph(9, seg_arg, offset_arg)
end;

procedure paint2(x,y: integer; lentile: byte; ofstile,segtile:

cbd: byte);
var paint2_arg: paz2;
seg_arg,offset_arg: integer;

begin
with paint2_arg do

begin
argl := X;
argz = y;
argld := lentile;
argd := ofstile;
argb := segtile;
argb := cbd

end; ®

seg_arg := seg(paint2_arg);

of fset_arg := ofs(paint2_arg);

graph(10, seg_arg, offset_arg)
end;

argl?2

procedure get(xl,yl,x2,y2.0fs_buff,seg_buff,len: integer);

var get_arg: ge;
seg_arg, offset_arg: integer;

begin
with get_arg do
begin
argl := x1;
arg2 .= vyl;
argd = x2:
argd = v2;
argd := ofs_buff;
argé := seg_buff;
arg?7 := len
end;
seg_arg := seg(get_arg):
offset_arg := ofs(get_arg);
graph(ll, seg_arg, offset_arg)
end; ’

procedure put(x,y,ofs_buff,seg_buff,len: integer; dm,csw,f{¢,bc:

var put_arg: pu;
seg_arg, offset_arg: integer;

begin
with put_arg do
begin

argl = x;
arg2 = vy,
argd := ofs_buff:
arg4 := seg_buff;
argh := len;

1= segtile end;

integer;

byte);



argb = dm;

arg7 = Ccsw;

argé 1= fc;

argd9 = bc

end;

seg_arg := segl(put_arg),;
offset_arg := ofs(put_arg);
graph(12, seg_arg, offset_arg)

end;

procedure kanji(x,y, jap: integer; dm,csv,fc,bc: byte):
var kanji_arg: ka;
seg_arg, offset_arg: integer;

begin
vith kanji_arg do
begin
argl 1= X
arg2 = vy;
argd = Jjap;
argd := dm;
argh 1= cswv;
argb := fc;
arg7 = bc
end;
seg_arg := segl(kanji_arg);
offset_arg := ofs(kanji_arg);
graph(13, seg_arg, offset_areg)
end;

procedure roll(updot,leftdot: integer:; clirflag: byte):
var roll_arg: rol;
seg_arg, offset_arg: integer;

begin
vith roll_arg do
begin
argl := updot:
arg2 = leftdot;
argld := clrflag
end;
seg_arg := seg(roll_arg);
offset_arg := ofs(roll_arg);
graph(l4, seg_arg, offset_arg)
end;

function point(x,y: integer): integer:
var
point_arg: po;
seg_arg, offset_arg: integer;

function ppoint(func,pl,p2: integer): integer; external

begin
with point_arg do
begin
argl := X;
argz := vy,
end;
seg_arg := seg(point_arg);
of fset_arg := ofs(point_arg);
point := ppoint(lb,seg_arg,offset_arg)
end;

procedure copy(option: bytel;
var seg_arg, offset_arg: integer;
begin
seg_arg := seg(option):
offset_arg := ofs(option);
graph(l6,seg_arg,offset_arg)
end;

procedure preset(x,y: integer);
var preset_arg: pr;,
seg_arg, offset_arg: integer;

begin
with preset_arg do
begin
argl := X;
argz = vy,
argd = $ff
end:
seg_arg :z seg(preset_arg};
offset_arg := ofs(preset_arg):
graph(17,seg_arg,of {set_arg)
end;

procedure textcolor(col:byte);
var ¢ : stringl3dl;

begin
case ¢
0: ¢ ;
1t ¢ 5
2: ¢ H
3! ¢ :
4: ¢ H
bt ¢ H
6: ¢c = '2ln';
7: ¢ = '23m';
8: ¢ = '40m’;
9: ¢ = '44nm";

-
—
(2]
iHnn
N
=

'pasgraph‘;



|

ﬁ 12: ¢ 1= '42m'

\ 13: ¢ 1= '46m'

i 14: ¢ = '43m';

U 15: ¢ = '47m"'

' end;

write(#$1B,'[',¢C)

end;

& procedure use_all_screen;
3 begin

_ N write(#$1B,'(>1h")
N o end;

v procedure reset_screen;
| begin

write(#$1B,'[>11")
end;

! procedure cursor_on;

! begin

| write(#$1B,'I>61")
end;

- procedure cursor_offl;
begin

write(#$1B,'(>5h")
end;

ettt otk ok ok ok ot ot sk stk sk s stk etk ok kR kRl Rk R ko ok sk ok ke ok

END OF GRAPH.LIB
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